#### **ABERDEEN NET PENS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
ggTake		
nipping		
eceive	150,000	6,818
anted	150,000	10,000
	ipping eceive	ggTake iipping eceive 150,000

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	MAYR BROTHERS REARIN	150,000	22.0	6,818	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	15.0	6,667	JUVENILE	GRAYS HARBOR ESTUARY	AD	
04/2009	04/2009	50,000	15.0	3,333	JUVENILE	GRAYS HARBOR ESTUARY	AD	

Memo: Released at the Port of Aberdeen, Chehalis River.

#### **ABERDEEN NET PENS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	150,000	6,818
Planted	150,000	10,000

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	MAYR BROTHERS REARIN	150,000	22.0	6,818 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	15.0	6,667	JUVENILE	GRAYS HARBOR ESTUARY	AD	
04/2010	04/2010	50,000	15.0	3,333	JUVENILE	GRAYS HARBOR ESTUARY	AD	

Memo: Released at the Port of Aberdeen, Chehalis River.

#### **ABERDEEN SD 5(ABERDE**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: VAN WINKLE C 22.0240

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	200	11
Receive	250	13
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LK ABERDEEN HATCHERY	250	20.0	13	JUVENILE
Shipped	05/2009	05/2009	LK ABERDEEN HATCHERY	200	18.0	11	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Tiddin Itelease			Ene Stage	Trefetable blice	man 1, pc	- uggeu

#### **ABERDEEN SD 5(ABERDE**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** VAN WINKLE C 22.0240

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	950	12
Receive	1,250	13
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	LK ABERDEEN HATCHERY	1,000			EGGS EYED
Shipped	05/2009	05/2009	LK ABERDEEN HATCHERY	750	750.0	1	JUVENILE
Received	01/2010	01/2010	LK ABERDEEN HATCHERY	250	20.0	13	JUVENILE
Shipped	05/2010	05/2010	LK ABERDEEN HATCHERY	200	18.0	11	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

#### **BAKER SP BEACHES 3+4**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** BAKER R 03.0435

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	48,992	1,814

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)	
06/2009	06/2009	5,117	32.0	160	JUVENILE	BAKER LK (WHAT)	$AD+FB(^{\wedge})$	
06/2009	06/2009	3,745	30.0	125	JUVENILE	BAKER LK (WHAT)	AD+PT	
06/2009	06/2009	35,000	26.0	1,346	JUVENILE	SKAGIT R 03.0176	AD	

Memo: Release number to be determined by the Baker Committee.

#### **BAKER SP BEACHES 3+4**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** BAKER R 03.0435

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	60,000	
Shipping		
Receive		
Planted	58,992	2,199

#### **Estimated Brood Data**

Egg Take Goal 60,000

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)	
06/2010	06/2010	5,117	32.0	160	<b>JUVENILE</b>	BAKER LK (WHAT)	AD+FB(^)	
06/2010	06/2010	3,745	30.0	125	<b>JUVENILE</b>	BAKER LK (WHAT)	AD+PT	
06/2010	06/2010	45,000	26.0	1,731	JUVENILE	SKAGIT R 03.0176	AD	

Memo: Release number to be determined by the Baker Committee.

#### **BALLARD SALMON CLUB**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,000

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	15.0	2.000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

#### **BALLARD SALMON CLUB**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 30,000 1,200
Planted 30,000 2,000

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	15.0	2,000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

#### **BERNIE GOBIN HATCH**

#### TUALAIP TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive
Planted 1,000,000 55,556

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	200,000	18.0	11,111	JUVENILE	TULALIP BAY	OT	
06/2009	06/2009	750,000	18.0	41,667	<b>JUVENILE</b>	TULALIP BAY	ADOT	
06/2009	06/2009	50,000	18.0	2,778	<b>JUVENILE</b>	TULALIP BAY	ADOT	✓

#### **BERNIE GOBIN HATCH**

#### TUALAIP TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping 2,500
Receive 1,600,000
Planted 1,000,000 55,556

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	1,600,000			EGGS GREEN
Shipped	04/2009	07/2009	WSU RESEARCH (PULLMAN)	2,500	150.0	17	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	200,000	18.0	11,111	JUVENILE	TULALIP BAY	OT	
06/2010	06/2010	750,000	18.0	41,667	JUVENILE	TULALIP BAY	ADOT	
06/2010	06/2010	50,000	18.0	2,778	<b>JUVENILE</b>	TULALIP BAY	ADOT	✓

#### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	207,500	9,224
Receive		
Planted	300,000	17,647

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	EIGHT CK/UPR CHEHALI	102,500	22.0	4,659	JUVENILE
Shipped	01/2009	01/2009	CARLISLE LK PROJECT	52,500	23.0	2,283	JUVENILE
Shipped	02/2009	02/2009	SKOOKUMCHUCK HATCHRY	52,500	23.0	2,283	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	150,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360	AD	✓
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360		✓
03/2009	05/2009	250,000	17.0	14,706	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	50,000	17.0	2,941	JUVENILE	SATSOP R -EF 22.0360	AD	✓

Memo:

#### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	157,500	7,055
Receive		
Planted	300,000	17,647

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	FRIENDS LANDING NP	52,500	22.0	2,386	JUVENILE
Shipped	01/2009	01/2009	CARLISLE LK PROJECT	52,500	23.0	2,283	JUVENILE
Shipped	02/2009	02/2009	SKOOKUMCHUCK HATCHRY	52,500	22.0	2,386	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	150,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360	AD	✓
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360		✓
03/2009	05/2009	250,000	17.0	14,706	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	50,000	17.0	2,941	JUVENILE	SATSOP R -EF 22.0360	AD	✓

Memo:

#### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	530,000	
Shipping	212,500	9,328
Receive		
Planted	300,000	17,647

#### **Estimated Brood Data**

Egg Take Goal 530,000

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	REG 6 ED COOPS	5,000			EGGS EYED
Shipped	01/2010	01/2010	EIGHT CK/UPR CHEHALI	102,500	22.0	4,659	JUVENILE
Shipped	01/2010	01/2010	CARLISLE LK PROJECT	52,500	23.0	2,283	JUVENILE
Shipped	02/2010	02/2010	SKOOKUMCHUCK HATCHRY	52,500	22.0	2,386	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	150,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360	AD	✓
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360		✓
03/2010	05/2010	250,000	17.0	14,706	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2010	05/2010	50,000	17.0	2,941	JUVENILE	SATSOP R -EF 22.0360	AD	✓

Memo:

#### **BINGHAM CR HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2008
Species: COHO
Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total #	<b>Total Pounds</b>
1,930,000	
1,340,800	22,933
2,000	118
300,000	17,647
	1,930,000 1,340,800 2,000

#### **Estimated Brood Data**

**Egg Take Goal** 1,930,000

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	CENTRALIA HS (CENTRA	15,000			EGGS EYED
Shipped	01/2009	01/2009	PEDERSEN PROJECT	50,000			EGGS EYED
Shipped	01/2009	01/2009	ROCHESTER FFA	25,000			EGGS EYED
Shipped	01/2009	01/2009	DEEP CR 23.0957	100,000			EGGS EYED
Shipped	01/2009	01/2009	DILLENBAUGH CR PROJECT	50,000			EGGS EYED
Shipped	01/2009	01/2009	REG 6 ED COOPS	25,000			EGGS EYED
Shipped	01/2009	01/2009	ELMA FFA	300			EGGS EYED
Shipped	01/2009	01/2009	HEIMBIGNER PROJECT	50,000			EGGS EYED
Shipped	01/2009	01/2009	GRAYS HARB4-H/HARBEL	30,000			EGGS EYED
Shipped	03/2009	03/2009	ELMA FFA	1,000	500.0	2	JUVENILE
Shipped	06/2009	06/2009	SATSOP SPRINGS PONDS	625,000	100.0	6,250	JUVENILE
Shipped	01/2010	01/2010	CARLISLE LK PROJECT	52,500	23.0	2,283	JUVENILE
Shipped	01/2010	01/2010	FRIENDS LANDING NP	52,500	22.0	2,386	JUVENILE
Shipped	01/2010	01/2010	ELMA FFA	2,000	25.0	80	JUVENILE
Shipped	01/2010	01/2010	WESTPORT NET PENS	210,000	22.0	9,545	JUVENILE
Shipped	02/2010	02/2010	SKOOKUMCHUCK HATCHRY	52,500	22.0	2,386	JUVENILE
Received	04/2010	04/2010	ELMA FFA	2,000	17.0	118	JUVENILE
Memo:							

# Future Brood Document 2008 Final BINGHAM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	150,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.0360	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360	AD	<b>✓</b>
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0360		<b>✓</b>
03/2010	05/2010	250,000	17.0	14,706	<b>JUVENILE</b>	SATSOP R -EF 22.0360	AD	
03/2010	05/2010	50,000	17.0	2,941	JUVENILE	SATSOP R -EF 22.0360	AD	✓

Memo:

#### **BROOK BAY PROJECT**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	25,000	
Planted	25,000	250

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	25,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	25,000	100.0	250	JUVENILE	LK WASHINGTON (KING)		

#### **BUZZARD CR COOP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	25,000	1,000
Planted	25,000	2,083

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	09/2008	11/2008	MAYR BROTHERS REARIN	25,000	25.0	1,000 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	25,000	12.0	2,083	JUVENILE	CHEHALIS R 22.0190	AD	

Memo: Released into Buzzard Creek.

#### **BUZZARD CR COOP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	35,000	
Shipping	35,000	
Receive	25,000	1,000
Planted	25,000	2,083

#### **Estimated Brood Data**

Egg Take Goal 35,000

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	MAYR BROTHERS REARIN	35,000			EGGS GREEN
Received	09/2009	11/2009	MAYR BROTHERS REARIN	25,000	25.0	1,000	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	25,000	12.0	2,083	JUVENILE	CHEHALIS R 22.0190	AD	

Memo: Released into Buzzard Creek.

#### CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,283
Planted	50,000	2,941

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	52,500	23.0	2,283 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	16,500	17.0	971	JUVENILE	CARLISLE LK (LEWI)	AD	
03/2009	05/2009	33,500	17.0	1,971	JUVENILE	GHEER CR 23.0913	AD	
03/2009	05/2009	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 52,500 2,283
Planted 50,000 2,941

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	52,500	23.0	2,283 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	16,500	17.0	971	JUVENILE	CARLISLE LK (LEWI)	AD	
03/2009	05/2009	33,500	17.0	1,971	<b>JUVENILE</b>	GHEER CR 23.0913	AD	
03/2009	05/2009	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### **CARLISLE LK PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run LATE

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,283
Planted	50,000	2,941

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	BINGHAM CR HATCHERY	52,500	23.0	2,283 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	16,500	17.0	971	JUVENILE	CARLISLE LK (LEWI)	AD	
03/2010	05/2010	33,500	17.0	1,971	JUVENILE	GHEER CR 23.0913	AD	
03/2010	05/2010	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	BINGHAM CR HATCHERY	52,500	23.0	2,283 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	16,500	17.0	971	JUVENILE	CARLISLE LK (LEWI)	AD	
03/2010	05/2010	33,500	17.0	1,971	JUVENILE	GHEER CR 23.0913	AD	
03/2010	05/2010	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### **CATHLAMET FFA**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO

Run TYPE N

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	16,000	640
Planted	15,000	882

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	11/2008	11/2008	ELOCHOMAN HATCHERY	16,000	25.0	640 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	17.0	882	JUVENILE	BIRNIE CR 25.0281	AD	

Memo: ALEA Funded Project.

#### **CATHLAMET FFA**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Take		
pping		
eive	16,000	640
nted	15,000	882
	Take pping eive nted	Take pping eive 16,000

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	11/2009	11/2009	ELOCHOMAN HATCHERY	16,000	25.0	640 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	15,000	17.0	882	JUVENILE	BIRNIE CR 25.0281	AD	

Memo: ALEA Funded Project.

#### **CENTRALIA HS (CENTRA**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	15,000	
Planted	15,000	10

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	15,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	7,000	1,750.0	4	JUVENILE	CHINA CR 23.0870		
06/2009	06/2009	500	500.0	1	<b>JUVENILE</b>	CHINA CR 23.0870		
06/2009	06/2009	7,000	1,750.0	4	JUVENILE	SCAMMON CR 23.0757		
06/2009	06/2009	500	500.0	1	JUVENILE	SCAMMON CR 23.0757		

TA /	r	
IV	lem	1()

#### **CITY OF TUKWILA**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	80,000	
Planted	80,000	53

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	80,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	60,000	1,500.0	40	JUVENILE	RIVERTON CR 09.0003		
03/2009	03/2009	20,000	1,500.0	13	JUVENILE	SOUTHGATE CR 09?		

Memo: Some scatter planting of fry above RSI will occur.

#### **CLARK COUNTY PUD**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

**Stock:** LEWIS R 27.0168

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	70,000	
Planted	70,000	47

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LEWIS RIVER HATCHERY	70,000			EGGS EYED

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	70,000	1,500.0	47	JUVENILE	SALMON CR 28.0059		

Memo: Hicks, Harding, McNab, .Buss, .Bishop, Sorenson, and Orander projects.

#### **COWLITZ GAME&ANGLERS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 40,000
Planted 40,000 27

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	COWLITZ SALMON HATCH	40,000			EGGS EYED

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	5,000	1,500.0	3	JUVENILE	SALMON CR 26.0479		
03/2009	03/2009	10,000	1,500.0	7	<b>JUVENILE</b>	CAMPBELL CR 26.0443		
03/2009	03/2009	5,000	1,500.0	3	<b>JUVENILE</b>	HILL CR 26.0423		
03/2009	03/2009	10,000	1,500.0	7	<b>JUVENILE</b>	ARKANSAS CR 26.0189		
03/2009	03/2009	5,000	1,500.0	3	<b>JUVENILE</b>	COWLITZ R TRIBS		
03/2009	03/2009	5,000	1,500.0	3	<b>JUVENILE</b>	COWLITZ R @ MAYFIELD		

Memo:

#### **COWLITZ SALMON HATCH**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
Е	ggTake		
S	hipping		
R	eceive		
P	lanted	2,361,254	157,417

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	2,361,254	15.0	157,417	JUVENILE	COWLITZ R 26.0002	AD	

Memo: Release 5/01. Egg take for Cooperatives as late as possible.

#### **COWLITZ SALMON HATCH**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	500,000	33,333

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	500,000	15.0	33,333	JUVENILE	COWLITZ R 26.0002	AD	<b>✓</b>

Memo: Release 5/01.

#### **COWLITZ SALMON HATCH**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	3,069,567	
Shipping	272,700	10
Receive		
Planted	2,335,434	155,696

#### **Estimated Brood Data**

**Egg Take Goal** 3,069,567

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	FRIENDS OF COWLITZ	230,000			EGGS EYED
Shipped	01/2009	01/2009	COWLITZ GAME&ANGLERS	40,000			EGGS EYED
Shipped	01/2009	01/2009	REG 5 ED COOPS	1,700			EGGS EYED
Shipped	06/2009	06/2009	KRAUS RYDERWOOD PROJ	1,000	100.0	10	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	2,335,434	15.0	155,696	JUVENILE	COWLITZ R 26.0002	AD	

Memo: Release 5/01. Egg take for Cooperatives as late as possible.

#### **COWLITZ SALMON HATCH**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	595,717	
Shipping		
Receive		
Planted	500,000	33,333

#### **Estimated Brood Data**

Egg Take Goal 595,717

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Release 5/01.

Memo:

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	500,000	15.0	33,333	JUVENILE	COWLITZ R 26.0002	AD	✓

#### **CRISP CR REARING PON**

#### MUCKLESHOOT TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	400,000	20,000
Receive	800,000	10,000
Planted	200,000	13,333

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	08/2008	08/2008	SOOS CREEK HATCHERY	800,000	80.0	10,000	JUVENILE
Shipped	03/2009	03/2009	ELLIOTT BAY TRIBAL NP	400,000	20.0	20,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	200,000	15.0	13,333	JUVENILE	CRISP CR 09.0113	AD	

Memo: Currently funded for only 600,000 fish.

#### **CRISP CR REARING PON**

#### MUCKLESHOOT TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total #	<b>Total Pounds</b>
400,000	20,000
800,000	10,000
200,000	13,333
	400,000 800,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	08/2009	08/2009	SOOS CREEK HATCHERY	800,000	80.0	10,000	JUVENILE
Shipped	03/2010	03/2010	ELLIOTT BAY TRIBAL NP	400,000	20.0	20,000	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	200,000	15.0	13.333	JUVENILE	CRISP CR 09.0113	AD	

Memo: Currently funded for only 600,000 fish.

#### **DEEP CR** 23.0957

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	100,000	
Planted	90,000	60

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	100,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	45,000	1,500.0	30	JUVENILE	GABLE CR 23.0959		
03/2009	03/2009	45,000	1,500.0	30	JUVENILE	TAPP CR 23.0958		

#### **DEEP R NET PENS**

# WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

**Stock:** GRAYS R 25.0093

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	ggTake		
S	hipping		
R	eceive	500,000	20,000
P	lanted	400,000	36,364

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	GRAYS RIVER HATCHERY	250,000	25.0	10,000	JUVENILE
Received	11/2008	11/2008	GRAYS RIVER HATCHERY	250,000	25.0	10,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	185,000	11.0	16,818	JUVENILE	DEEP R 25.0071	AD	
04/2009	05/2009	185,000	11.0	16,818	JUVENILE	DEEP R 25.0071	AD	
04/2009	05/2009	30,000	11.0	2,727	JUVENILE	DEEP R 25.0071	AD	✓

Memo: Upper and Lower Net Pens.

#### **DEEP R NET PENS**

# WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

**Stock:** GRAYS R 25.0093

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
gTake		
ipping		
ceive	500,000	20,000
inted	465,000	42,273
	gTake ipping ceive unted	gTake ipping ceive 500,000

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2009	11/2009	GRAYS RIVER HATCHERY	250,000	25.0	10,000	JUVENILE
Received	11/2009	11/2009	GRAYS RIVER HATCHERY	250,000	25.0	10,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	250,000	11.0	22,727	JUVENILE	DEEP R 25.0071	AD	
04/2010	05/2010	185,000	11.0	16,818	JUVENILE	DEEP R 25.0071	AD	
04/2010	05/2010	30,000	11.0	2,727	JUVENILE	DEEP R 25.0071	AD	✓

Memo: Upper and Lower Net Pens.

#### **DENNY CR PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted	5,000	3

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	5,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	1,500.0	3	JUVENILE	DENNY CR 08.0228		

Memo: Remote Site Incubator Project.

#### **DILLENBAUGH CR PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	33

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	DILLENBAUGH 23.0880		

Memo: Remote Site Incubator Project

#### **DOBBS CR PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: MINTER CR 15.0048

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted	5,000	3

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	5,000		EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	1,500.0	3	JUVENILE	DOBBS CR 13.0005		

Memo: Remote Site Incubator Project.

#### **DUNGENESS HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run NA

Stock: DUNGENESS R 18.0018

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

EggTake
Shipping
Receive
Planted 500,000 29,412

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	460,000	17.0	27,059	JUVENILE	DUNGENESS R 18.0018	AD	
05/2009	05/2009	40,000	17.0	2,353	JUVENILE	DUNGENESS R 18.0018	AD	<b>✓</b>

Memo: Fry plant into restored stream in partnership with NOSC. Yearling release on or after June 1.

#### **DUNGENESS HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: DUNGENESS R 18.0018

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake	550,000	
Shipping	7,500	
Receive		
Planted	512,000	30,010
	Shipping	Shipping 7,500 Receive

#### **Estimated Brood Data**

Egg Take Goal 550,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	12/2008	HURD CR HATCHERY	7,500			EGGS GREEN

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	2,000	200.0	10	JUVENILE	COOPER CR 18.0017		
05/2010	05/2010	40,000	17.0	2,353	JUVENILE	DUNGENESS R 18.0018	AD	✓
05/2010	05/2010	10,000	17.0	588	<b>JUVENILE</b>	DUNGENESS R 18.0018	AD	<b>✓</b>
06/2010	06/2010	460,000	17.0	27,059	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Fry plant into restored stream in partnership with NOSC. Yearling release on or after June 1.

#### **EDUCKET CR HATCHERY**

#### MAKAH TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** SOOES R 20.0015

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	EggTake		
S	Shipping		
F	Receive	40,000	2,222
F	Planted	40,000	2,667

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	MAKAH NFH ON SOOES R	40,000	18.0	2,222	JUVENILE

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	40,000	15.0	2,667	JUVENILE	EDUCKET CR 20.0010	AD	

#### **EDUCKET CR HATCHERY**

#### MAKAH TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

**Stock:** SOOES R 20.0015

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	40,000	2,222
Planted	40,000	2,667

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2010	03/2010	MAKAH NFH ON SOOES R	40,000	18.0	2,222	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	40,000	15.0	2,667	JUVENILE	EDUCKET CR 20.0010	AD	

#### EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	102,500	4,659
Planted	100,000	6,667

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	102,500	22.0	4,659	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	100,000	15.0	6,667	JUVENILE	EIGHT CR 23.1117	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run LATE

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	102,500	4,659
Planted	100,000	6,667

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	BINGHAM CR HATCHERY	102,500	22.0	4,659 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	100,000	15.0	6,667	JUVENILE	EIGHT CR 23.1117	AD	

Memo: Part of Skookumchuck Mitigation Agreement.

#### ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	400,000	20,000
Planted	395,000	39,500

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	CRISP CR REARING PON	400,000	20.0	20,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

Memo: Joint Muckleshoot/Suquamish Tribe Project.

#### ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	400,000	20,000
Planted	395,000	39,500

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2010	03/2010	CRISP CR REARING PON	400,000	20.0	20,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

Memo: Joint Muckleshoot/Suquamish Tribe Project.

#### **ELMA FFA**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total #	<b>Total Pounds</b>
2,000	118
3,300	82
1,000	6
	2,000 3,300

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	300			EGGS EYED
Received	03/2009	03/2009	BINGHAM CR HATCHERY	1,000	500.0	2	JUVENILE
Received	01/2010	01/2010	BINGHAM CR HATCHERY	2,000	25.0	80	JUVENILE
Shipped	04/2010	04/2010	BINGHAM CR HATCHERY	2,000	17.0	118	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	1,000	167.0	6	JUVENILE	SATSOP R 22.0360	AD	

#### **ELOCHOMAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	16,000	640
Receive		
Planted	497,000	29,235

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	CATHLAMET FFA	16,000	25.0	640	JUVENILE

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	388,000	17.0	22,824	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2009	06/2009	30,000	17.0	1,765	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	<b>✓</b>
04/2009	06/2009	467,000	17.0	27,471	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2009	06/2009	30,000	17.0	1,765	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	✓

Memo:

#### **ELOCHOMAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	418,000	24,588

Page 51

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	388,000	17.0	22,824	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2009	06/2009	30,000	17.0	1,765	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	<b>✓</b>
04/2009	06/2009	467,000	17.0	27,471	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2009	06/2009	30,000	17.0	1,765	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	✓

#### **ELOCHOMAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	600,000	
Shipping	16,500	640
Receive		
Planted	497,000	29,235

Page 52

#### **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2008	01/2008	REG 5 ED COOPS	500			EGGS EYED
Shipped	11/2009	11/2009	CATHLAMET FFA	16,000	25.0	640	JUVENILE

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	388,000	17.0	22,824	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2010	06/2010	30,000	17.0	1,765	JUVENILE	ELOCHOMAN R 25.0236	AD	✓
04/2010	06/2010	467,000	17.0	27,471	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	
04/2010	06/2010	30,000	17.0	1,765	JUVENILE	ELOCHOMAN R 25.0236	AD	✓

#### **ELOCHOMAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

EggTake 548,000

Shipping Receive Planted 418,000 24,588

**Estimated Brood Data** 

Egg Take Goal 548,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Memo:

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	388,000	17.0	22,824	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2010	06/2010	30,000	17.0	1,765	<b>JUVENILE</b>	ELOCHOMAN R 25.0236	AD	<b>✓</b>
04/2010	06/2010	467,000	17.0	27,471	JUVENILE	ELOCHOMAN R 25.0236	AD	
04/2010	06/2010	30,000	17.0	1,765	JUVENILE	ELOCHOMAN R 25.0236	AD	✓

#### **FALLERT CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

Stock: KALAMA R 27.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	350,000	20,588

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	320,000	17.0	18,824	JUVENILE	KALAMA R 27.0002	AD	
04/2009	05/2009	30,000	17.0	1,765	JUVENILE	KALAMA R 27.0002	AD	✓

#### FALLERT CR HATCHERY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

Stock: KALAMA R 27.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	ggTake	420,000	
S	hipping	1,000	
R	eceive		
P	lanted	350,000	20,588

**Estimated Brood Data** 

Egg Take Goal 420,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	REG 5 ED COOPS	1,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	320,000	17.0	18,824	JUVENILE	KALAMA R 27.0002	AD	
04/2010	05/2010	30,000	17.0	1,765	<b>JUVENILE</b>	KALAMA R 27.0002	AD	<b>✓</b>

#### **FERNDALE HS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	20,000	
Planted	20,000	40

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	KENDALL CR HATCHERY	20,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	500.0	40	JUVENILE	DEER CR 01.0165		

#### FISH FIRST RSI+NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	460,000	
Planted	460,000	307

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	LEWIS RIVER HATCHERY	460,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	JOHNSON CR 27.0327		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	HOUGHTON CR 27.0319		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	ROBINSON CR 27.0300		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	LEWIS R TRIBS		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	LEWIS R TRIBS		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	LEWIS R TRIBS		
04/2009	04/2009	10,000	1,500.0	7	JUVENILE	LEWIS R TRIBS		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	LEWIS R -NF 27.0168		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	STABLE CR (27)		
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	DAVIS CR 26.1085		

Memo:

#### FISH FIRST RSI+NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** WILD

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	400,000	
Planted	400,000	267

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	WASHOUGAL HATCHERY	400,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	CHELATCHIE-NF 270373	ОТ	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	BITTER CR 27.0367	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	PUP CR 27.0345	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	CEDAR CR 27.0339	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	JOHN CR 27.0335	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	LEWIS R TRIBS	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	MALINOWSKI PD	OT	
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	BEAVER CR 26.0325	OT	

Memo: All eggs are Otolith Marked.

#### FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake		
Shipping		
Receive		
Planted	100,000	5,882
	Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	350,000	17.0	20,588	JUVENILE	FORK CR 24.0356	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356	AD	✓
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356		✓
04/2009	04/2009	55,000	17.0	3,235	JUVENILE	FORK CR 24.0356	AD	
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	✓

Memo:

#### FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	500,000	29,412

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	350,000	17.0	20,588	JUVENILE	FORK CR 24.0356	AD	
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356	AD	✓
03/2009	05/2009	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356		✓
04/2009	04/2009	55,000	17.0	3,235	JUVENILE	FORK CR 24.0356	AD	
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	✓

Memo:

#### FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run LATE

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake	225,000	
Shipping	110,000	
Receive		
Planted	100,000	5,882

#### **Estimated Brood Data**

Egg Take Goal 225,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	NASELLE HATCHERY	110,000			EGGS GREEN

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	350,000	17.0	20,588	JUVENILE	FORK CR 24.0356	AD	
03/2010	05/2010	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356	AD	✓
03/2010	05/2010	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356		✓
04/2010	04/2010	55,000	17.0	3,235	JUVENILE	FORK CR 24.0356	AD	
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	✓

Memo:

#### FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,300,000	
Shipping	790,000	
Receive		
Planted	500,000	29,412

### **Estimated Brood Data**

**Egg Take Goal** 1,300,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	PACIFIC CO ANGLERS	220,000			EGGS GREEN
Shipped	01/2009	01/2009	RFEG 10 WILLAPA BAY	270,000			EGGS EYED
Shipped	03/2009	03/2009	MARCH SPAWNING CHNL	300,000			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	350,000	17.0	20,588	JUVENILE	FORK CR 24.0356	AD	
03/2010	05/2010	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356	AD	✓
03/2010	05/2010	75,000	17.0	4,412	JUVENILE	FORK CR 24.0356		✓
04/2010	04/2010	55,000	17.0	3,235	JUVENILE	FORK CR 24.0356	AD	
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	✓

Memo:

#### FRIENDS LANDING NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,386
Planted	50,000	3,333

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	52,500	22.0	2,386 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	15.0	3,333	JUVENILE	QUIGG LAKE (GRAY)	AD	

#### FRIENDS LANDING NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,386
Planted	50,000	3,333

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	01/2010	BINGHAM CR HATCHERY	52,500	22.0	2,386	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	50,000	15.0	3,333	JUVENILE	QUIGG LAKE (GRAY)	AD	

#### FRIENDS OF COWLITZ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

**Species:** COHO

Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	230,000	
Planted	230,000	153

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	COWLITZ SALMON HATCH	230,000			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	20,000	1,500.0	13	JUVENILE	JONES CR 26.0531		
03/2009	03/2009	80,000	1,500.0	53	<b>JUVENILE</b>	BLUE CR 26.0527		
03/2009	03/2009	16,000	1,500.0	11	<b>JUVENILE</b>	LACAMAS CR 26.0467		
03/2009	03/2009	8,000	1,500.0	5	<b>JUVENILE</b>	OLEQUA CR 26.0427		
03/2009	03/2009	16,000	1,500.0	11	<b>JUVENILE</b>	SALMON CR 26.0187		
03/2009	03/2009	30,000	1,500.0	20	<b>JUVENILE</b>	COWLITZ R TRIBS		
03/2009	03/2009	20,000	1,500.0	13	<b>JUVENILE</b>	COWLITZ R TRIBS		
03/2009	03/2009	20,000	1,500.0	13	<b>JUVENILE</b>	COWLITZ R TRIBS		
03/2009	03/2009	20,000	1,500.0	13	JUVENILE	COWLITZ R TRIBS		

Memo:

#### **GEORGE ADAMS HATCHRY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** GEORGE ADAMS (PURDY)

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

Total # Total Pounds

EggTake
Shipping
Receive
Planted 300,000 17,647

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	210,000	17.0	12,353	JUVENILE	PURDY CR 16.00	)5 AD	
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	PURDY CR 16.00	)5 AD	<b>✓</b>
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	PURDY CR 16.000	)5	✓

#### **GEORGE ADAMS HATCHRY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: QUILCENE NFH STOCK

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	425,000	17,000
Receive		
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	PORT GAMBLE BAY PENS	425,000	25.0	17,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Adjust as necessary to realize 400,000 smolts from this transfer.

#### **GEORGE ADAMS HATCHRY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** GEORGE ADAMS (PURDY)

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

Total # Total Pounds

EggTake 345,000

Shipping Receive Planted 300,000 17,647

**Estimated Brood Data** 

Egg Take Goal 345,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site		Mark Type	Tagged
04/2010	04/2010	210,000	17.0	12,353	JUVENILE	PURDY CR	16.0005	AD	
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	PURDY CR	16.0005	AD	<b>~</b>
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	PURDY CR	16.0005		✓

#### **GEORGE ADAMS HATCHRY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: QUILCENE NFH STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	425,000	17,000
Receive	450,000	
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	QUILCENE NFH	450,000			EGGS EYED
Shipped	02/2010	02/2010	PORT GAMBLE BAY PENS	425,000	25.0	17,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Adjust as necessary to realize 400,000 smolts from this transfer.

#### GIRL SCOUTS/LIONS CL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** VAN WINKLE C 22.0240

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 500 1
Planted 500 1

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	LK ABERDEEN HATCHERY	500	500.0	1	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	500	500.0	1	JUVENILE	MOX CHUCK SLU22.0251		

#### **GLENWOOD SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: GLENWOOD SPRINGS

Brood Origin: HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	100,000	6,667

#### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100.000	15.0	6,667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

#### **GLENWOOD SPRINGS**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

**Species:** COHO

Run NA

Stock: GLENWOOD SPRINGS

**Brood Origin:** HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake	140,000	
Shipping		
Receive		
Planted	100,000	6,667

#### **Estimated Brood Data**

Egg Take Goal 140,000

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	15.0	6,667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

### **GRAYS HARB4-H/FRICKE**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 20,000
Planted 17,000 34

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	HUMPTULIPS HATCHERY	20,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	17,000	500.0	34	JUVENILE	LTL HOQUIAM-NF220157	AD	

### **GRAYS HARB4-H/HARBEL**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	
Planted	28,500	22

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	30,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	9,500	1,500.0	6	JUVENILE	STILL CR 22.0366		
04/2009	04/2009	9,500	1,500.0	6	<b>JUVENILE</b>	SYLVIA CR 22.0261		
05/2009	05/2009	9,500	1,000.0	10	JUVENILE	COOK CR 22.0410		

TA /	r	
IV	lem	1()

### **GRAYS HARBOR COLLEGE**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ALDER CR 24.0653

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	75,000	
Shipping		
Receive		
Planted	71,500	228

### **Estimated Brood Data**

Egg Take Goal 75,000

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	70,000	500.0	140	JUVENILE	LK SWANO (22)		
04/2010	04/2010	1,500	17.0	88	<b>JUVENILE</b>	ALDER CR 24.0653	AD	

Memo: Up to 50,000 more eggs from Lk Aberdeen Hatchery if egg-take not met.

### **GRAYS HARBOR GILLNET**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	200,000	
Planted	190,000	633

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	HUMPTULIPS HATCHERY	200,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	190,000	300.0	633	JUVENILE	HOQUIAM R-EF 22.0138		

### **GRAYS RIVER HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

**Stock:** GRAYS R 25.0093

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake		
Shipping	500,000	20,000
Receive		
Planted	150,000	13,636

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	DEEP R NET PENS	250,000	25.0	10,000	JUVENILE
Shipped	11/2008	11/2008	DEEP R NET PENS	250,000	25.0	10,000	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	120,000	11.0	10,909	JUVENILE	GRAYS R 25.0093	AD	
04/2009	04/2009	30,000	11.0	2,727	JUVENILE	GRAYS R 25.0093	AD	✓

Memo: BPA funded, released at 10-14 fpp.

### **GRAYS RIVER HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

**Stock:** GRAYS R 25.0093

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake	850,000	
Shipping	500,000	20,000
Receive		
Planted	150,000	13,636

### **Estimated Brood Data**

Egg Take Goal 850,000

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2009	11/2009	DEEP R NET PENS	250,000	25.0	10,000	JUVENILE
Shipped	11/2009	11/2009	DEEP R NET PENS	250,000	25.0	10,000	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	120,000	11.0	10,909	JUVENILE	GRAYS R 25.0093	AD	
04/2010	04/2010	30,000	11.0	2,727	JUVENILE	GRAYS R 25.0093	AD	<b>✓</b>

Memo: BPA funded, released at 10-14 fpp.

### HALLS LAKE PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	
Planted	30,000	20

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2008	03/2008	30,000	1,500.0	20	JUVENILE	HALL LK (SNOH)		

Memo: Remote Site Incubator Project.

### **HEIMBIGNER PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 50,000
Planted 45,000 982

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	50,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	30,000	300.0	100	JUVENILE	STEARNS CR 23.0934	AD	
04/2010	05/2010	15,000	17.0	882	JUVENILE	STEARNS CR 23.0934	AD	

### **HUMPTULIPS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	450,000	30,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	700,000	15.0	46,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2009	05/2009	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	<b>✓</b>
03/2009	05/2009	400,000	15.0	26,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2009	05/2009	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	

### **HUMPTULIPS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	750,000	50,000

Page 82

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	700,000	15.0	46,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2009	05/2009	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	<b>✓</b>
03/2009	05/2009	400,000	15.0	26,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2009	05/2009	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	

### **HUMPTULIPS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run LATE

**Stock:** HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake 500,000
Shipping Receive Planted 450,000 30,000

**Estimated Brood Data** 

Egg Take Goal 500,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Memo:

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	700,000	15.0	46,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2010	05/2010	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	✓
03/2010	05/2010	400,000	15.0	26,667	<b>JUVENILE</b>	STEVENS CR 22.0064	AD	
03/2010	05/2010	50,000	15.0	3,333	<b>JUVENILE</b>	STEVENS CR 22.0064	AD	

### **HUMPTULIPS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: HUMPTULIPS R 22.0004

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,350,000	
Shipping	220,000	
Receive		
Planted	750,000	50,000

### **Estimated Brood Data**

**Egg Take Goal** 1,350,000

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	01/2009	GRAYS HARB4-H/FRICKE	20,000			EGGS EYED
Shipped	12/2008	01/2009	GRAYS HARBOR GILLNET	200,000			EGGS EYED

### **Estimated Release Data**

Memo:

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	700,000	15.0	46,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2010	05/2010	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	<b>✓</b>
03/2010	05/2010	400,000	15.0	26,667	JUVENILE	STEVENS CR 22.0064	AD	
03/2010	05/2010	50,000	15.0	3,333	JUVENILE	STEVENS CR 22.0064	AD	

### **HURD CR HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: DUNGENESS R 18.0018

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	6,750	
Receive	7,500	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	DUNGENESS HATCHERY	7,500			EGGS GREEN
Shipped	02/2009	02/2009	REG 6 ED COOPS	6,750			EGGS EYED

### **Estimated Release Data**

Start Date End Date Num Release F11 I total I ould Ene Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

### **ISSAQUAH HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	60,000	2,400
Receive		
Planted	450,000	26,471

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE
Shipped	01/2009	01/2009	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

# Future Brood Document 2008 Final ISSAQUAH HATCHERY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### NORTH PUGET SOUND

Brood Year: 2008
Species: COHO
Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,200,000	
Shipping	511,700	2,400
Receive		
Planted	450,000	26,471

### **Estimated Brood Data**

**Egg Take Goal** 1,200,000

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	KENT SD	1,000			EGGS EYED
Shipped	01/2009	01/2009	BROOK BAY PROJECT	25,000			EGGS EYED
Shipped	01/2009	01/2009	HALLS LAKE PROJECT	30,000			EGGS EYED
Shipped	01/2009	01/2009	DENNY CR PROJECT	5,000			EGGS EYED
Shipped	01/2009	01/2009	NWSSC - LAEBUGTEN	80,000			EGGS EYED
Shipped	01/2009	01/2009	LIVELY ENV. CTR	20,000			EGGS EYED
Shipped	01/2009	01/2009	JORDAN PROJECT -RSI	5,000			EGGS EYED
Shipped	01/2009	01/2009	MCALEER CR PROJECT	70,000			EGGS EYED
Shipped	01/2009	01/2009	ROGER URBANIAK PROJECT	205,000			EGGS EYED
Shipped	01/2009	01/2009	REG 4 ED COOPS	10,700			EGGS EYED
Shipped	11/2009	11/2009	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE
Shipped	01/2010	01/2010	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE

Memo:

# Future Brood Document 2008 Final ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH PUGET SOUND

<b>Estimated</b>	Rele	ease	Data
Loumattu	IXCI	ast	Data

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

Memo:

### **JOHNSON CR PROJECT -RSI**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: NASELLE R 24.0543

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	33

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	NASELLE HATCHERY	50,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	1,500.0	33	JUVENILE	JOHNSON CR 24.0581		

Memo: Remote Site Incubator Project. May come from local stocks via broodstocking.

### **JORDAN PROJECT -RSI**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted	5,000	3
	Shipping Receive	EggTake Shipping Receive 5,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	5,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	5,000	1,500.0	3	JUVENILE	UNNAMED CR 08.0060		

Memo: Remote Site Incubator Project.

### KALAMA CR HATCHERY

NISQUALLY TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: KALAMA CR 11.0017

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	300,000	17,647
	Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	255,000	17.0	15,000	JUVENILE	KALAMA CR 11.0017	AD	
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	KALAMA CR 11.0017	AD	✓

### KALAMA CR HATCHERY

NISQUALLY TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KALAMA CR 11.0017

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	370,000	
Shipping		
Receive		
Planted	300,000	17,647

### **Estimated Brood Data**

Egg Take Goal 370,000

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	255,000	17.0	15,000	JUVENILE	KALAMA CR 11.0017	AD	
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	KALAMA CR 11.0017	AD	✓

### KALAMA FALLS HATCHRY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

**Species:** СОНО Run TYPE N

Stock: KALAMA R 27.0002

**Brood Origin: HATCHERY Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	350,000	20,588

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

**FPP Shipped or Receive Facility Total Pounds** Life Stage **Start Date End Date** Number

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	320,000	17.0	18,824	JUVENILE	KALAMA R 27.0002	AD	
04/2009	06/2009	30,000	17.0	1,765	JUVENILE	KALAMA R 27.0002	AD	✓

On station release.

Memo:

### KALAMA FALLS HATCHRY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: KALAMA R 27.0002

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	460,000	
Shipping		
Receive		
Planted	350,000	20,588

### **Estimated Brood Data**

Egg Take Goal 460,000

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	320,000	17.0	18,824	JUVENILE	KALAMA R 27.0002	AD	
04/2010	06/2010	30,000	17.0	1,765	JUVENILE	KALAMA R 27.0002	AD	✓

Memo: On station release.

### KENDALL CR HATCHERY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	5,000	200
Receive		
Planted	300,000	17,647

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2009	02/2009	SQUALICUM NET PENS	5,000	25.0	200 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	210,000	17.0	12,353	JUVENILE	KENDALL CR 01.0406	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406	AD	<b>✓</b>
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406		$\checkmark$

Memo: On-station yearling release.

### KENDALL CR HATCHERY

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	550,000	
Shipping	130,250	200
Receive		
Planted	300,000	17,647

### **Estimated Brood Data**

Egg Take Goal 550,000

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	01/2009	NELSON PROJECT	40,000			EGGS EYED
Shipped	12/2008	01/2009	LYNDEN CHRISTIAN	50,000			EGGS EYED
Shipped	12/2008	01/2009	FERNDALE HS	20,000			EGGS EYED
Shipped	12/2008	01/2009	TOAD CREEK PROJECT	15,000			EGGS EYED
Shipped	12/2008	01/2009	REG 4 ED COOPS	250			EGGS EYED
Shipped	02/2010	02/2010	SQUALICUM NET PENS	5,000	25.0	200	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	210,000	17.0	12,353	JUVENILE	KENDALL CR 01.0406	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406	AD	<b>✓</b>
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406		✓

Memo: On-station yearling release.

### KENT SD

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,000	
Planted		

Page 97

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	1,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

### KLICKITAT HATCHERY (YKFP)

#### YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive
Planted 1,000,000 66,667

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	955,000	15.0	63,667	JUVENILE	KLICKITAT R 30.0002	AD	
04/2009	06/2009	45,000	15.0	3,000	JUVENILE	KLICKITAT R 30.0002	AD	✓

Memo: On station plant, release at 15-17 fpp.

### KLICKITAT HATCHERY (YKFP)

### YAKAMA TRIBE

### SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
27.0168
Shipping
RY
Receive 1,300,000
Planted 1,000,000 66,667

Total #

**Total Pounds** 

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	WASHOUGAL HATCHERY	1,300,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	06/2010	955,000	15.0	63,667	JUVENILE	KLICKITAT R 30.0002	AD	
04/2010	06/2010	45,000	15.0	3,000	JUVENILE	KLICKITAT R 30.0002	AD	✓

Memo: On station plant, release at 15-17 fpp.

### KRAUS RYDERWOOD PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,000	10
Planted	1,000	10

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	06/2009	06/2009	COWLITZ SALMON HATCH	1,000	100.0	10	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	1,000	100.0	10	JUVENILE	CAMPBELL CR 26.0443	AD	

### LEAVENWORTH HATCHERY

U.S. FISH AND WILDLIFE SERVICE

NORTH CENTRAL WASHINGTON

**Brood Year:** 2007

Species: COHO Run NA

Stock: COLUMBIA R - GENERAL

**Brood Origin:** MIXED

**Integrated/Segregated:** 

Total #	<b>Total Pounds</b>
650,000	32,500

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	WILLARD NFH	650,000	20.0	32,500	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged

Fish transferred to various acclimation sites including Leavenworth NFH, Beaver Creek, and Rolfling's Pond prior to eventual release into the Wenatchee Rive

### LEAVENWORTH HATCHERY

U.S. FISH AND WILDLIFE SERVICE

NORTH CENTRAL WASHINGTON

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** COLUMBIA R - GENERAL

**Brood Origin:** MIXED

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	650,000	32,500
Planted		ŕ

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage	
Received	03/2010	03/2010	WILLARD NFH	650,000	20.0	<b>32,500</b> JUVENILE	

### **Estimated Release Data**

Start Date End Date Num Release III I total I build Ente Stage Release Site Mark Type I agged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Fish transferred to various acclimation sites including Leavenworth NFH, Beaver Creek, and Rolfling's Pond prior to eventual release into the Wenatchee Rive

### LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	815,000	50,938

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	730,000	16.0	45,625	JUVENILE	LEWIS R 27.0168	AD	
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	✓
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		✓
04/2009	05/2009	665,000	16.0	41,563	JUVENILE	LEWIS R 27.0168	AD	
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	✓
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		✓

Memo:

### LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	880,000	55,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	730,000	16.0	45,625	JUVENILE	LEWIS R 27.0168	AD	
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	✓
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		<b>✓</b>
04/2009	05/2009	665,000	16.0	41,563	JUVENILE	LEWIS R 27.0168	AD	
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	<u>~</u>
04/2009	05/2009	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		✓

Memo:

### LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008 **Species:** COHO

Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	3,000,000	
Shipping	1,946,500	
Receive		
Planted	815,000	50,938

### **Estimated Brood Data**

**Egg Take Goal** 3,000,000

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	12/2008	WASHOUGAL HATCHERY	1,300,000			EGGS GREEN
Shipped	01/2009	01/2009	CLARK COUNTY PUD	70,000			EGGS EYED
Shipped	01/2009	01/2009	STEVE SYVERSON PROJ	5,000			EGGS EYED
Shipped	01/2009	01/2009	VERNERSBORG FIREFIGHTERS	90,000			EGGS EYED
Shipped	01/2009	01/2009	REG 5 ED COOPS	21,500			EGGS EYED
Shipped	02/2009	02/2009	FISH FIRST RSI+NP	460,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	730,000	16.0	45,625	JUVENILE	LEWIS R 27.0168	AD	
04/2010	05/2010	75,000	16.0	4,688	<b>JUVENILE</b>	LEWIS R 27.0168	AD	<b>✓</b>
04/2010	05/2010	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		<b>✓</b>
04/2010	05/2010	665,000	16.0	41,563	JUVENILE	LEWIS R 27.0168	AD	
04/2010	05/2010	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	<b>✓</b>
04/2010	05/4010	75,000	16.0	4,688	<b>JUVENILE</b>	LEWIS R 27.0168		$\checkmark$

Memo:

### LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,050,000	
Planted	880,000	55,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	SPEELYAI HATCHERY	1,050,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	730,000	16.0	45,625	JUVENILE	LEWIS R 27.0168	AD	
04/2010	05/2010	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	✓
04/2010	05/2010	75,000	16.0	4,688	<b>JUVENILE</b>	LEWIS R 27.0168		<b>✓</b>
04/2010	05/2010	665,000	16.0	41,563	JUVENILE	LEWIS R 27.0168	AD	
04/2010	05/2010	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168	AD	<u>~</u>
04/2010	05/4010	75,000	16.0	4,688	JUVENILE	LEWIS R 27.0168		✓

Memo:

### LIVELY ENV. CTR

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

HATCHERY INTEGRATED EggTake
Shipping
Receive 20,000
Planted 20,000 100

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	20,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	20,000	200.0	100	JUVENILE	NICKEL CR 08.0077A		

### LK ABERDEEN HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** VAN WINKLE C 22.0240

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	250	13
Receive	200	11
Planted	30,000	2,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	ABERDEEN SD 5(ABERDE	250	20.0	13	JUVENILE
Received	05/2009	05/2009	ABERDEEN SD 5(ABERDE	200	18.0	11	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	30,000	15.0	2,000	JUVENILE	VAN WINKLE C 22.0240	AD	<b>✓</b>

Memo: Up to 50,000 more eggs for Grays Harbor CC if egg-take not met.

#### LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** VAN WINKLE C 22.0240

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	150,000	
Shipping	7,200	14
Receive	950	12
Planted	30,000	2,000

### **Estimated Brood Data**

Egg Take Goal 150,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2009	04/2009	ABERDEEN SD 5(ABERDE	1,000			EGGS EYED
Shipped	04/2009	04/2009	GIRL SCOUTS/LIONS CL	500	500.0	1	JUVENILE
Shipped	04/2009	04/2009	REG 6 ED COOPS	5,450			EGGS EYED
Received	05/2009	05/2009	ABERDEEN SD 5(ABERDE	750	750.0	1	JUVENILE
Shipped	01/2010	01/2010	ABERDEEN SD 5(ABERDE	250	20.0	13	JUVENILE
Received	05/2010	05/2010	ABERDEEN SD 5(ABERDE	200	18.0	11	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	30,000	15.0	2.000	JUVENILE	VAN WINKLE C 22.0240	AD	✓

Memo: Up to 50,000 more eggs for Grays Harbor CC if egg-take not met.

#### LOWER ELWHA HATCHERY

LOWER ELWHA S'KLALLAM TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** ELWHA R 18.0272

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	750,000	50,000

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	75,000	15.0	5,000	JUVENILE	ELWHA R 18.0272	AD	<b>~</b>
05/2009	05/2009	600,000	15.0	40,000	JUVENILE	ELWHA R 18.0272		
05/2009	05/2009	75,000	15.0	5,000	JUVENILE	ELWHA R 18.0272		✓

#### LOWER ELWHA HATCHERY

LOWER ELWHA S'KLALLAM TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** ELWHA R 18.0272

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	1,121,000	
Shipping	3,000	
Receive		
Planted	750,000	50,000

#### **Estimated Brood Data**

**Egg Take Goal** 1,121,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped			PENINSULA COLLEGE	3,000			EGGS GREEN

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site		Mark Type	Tagged
05/2010	05/2010	75,000	15.0	5,000	JUVENILE	ELWHA R	18.0272	AD	<b>✓</b>
05/2010	05/2010	600,000	15.0	40,000	JUVENILE	ELWHA R	18.0272		
05/2010	05/2010	75,000	15.0	5,000	JUVENILE	ELWHA R	18.0272		$\checkmark$

#### **LUMMI SEA PONDS**

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** LUMMI BAY (SEA POND)

Brood Origin: HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,000,000	25,000
Planted	1,000,000	66,667

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2009	06/2009	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	✓

#### **LUMMI SEA PONDS**

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** LUMMI BAY (SEA POND)

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

 Total #
 Total Pounds

 EggTake
 1,400,000

 Shipping
 1,200,000

 Receive
 1,000,000
 25,000

 Planted
 1,000,000
 66,667

### **Estimated Brood Data**

**Egg Take Goal** 1,400,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	12/2008	SKOOKUM CR HATCHERY	1,200,000			EGGS EYED
Received	04/2010	04/2010	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2010	06/2010	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	✓

#### LYNDEN CHRISTIAN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	100

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	500.0	100	JUVENILE	FISHTRAP CR 01.0210		

#### MAKAH NFH ON SOOES R

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run NA

**Stock:** SOOES R 20.0015

Brood Origin: HATCHERY

Integrated/Suggested: INTEGRATED

Integrated/Segregated: INTEGRATED

		Total #	<b>Total Pounds</b>
Egg	Гake		
Ship	ping	40,000	2,222
Rece	eive		
Plan	ted	200,000	11,111

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage	
Shipped	03/2009	03/2009	EDUCKET CR HATCHERY	40,000	18.0	2,222 JUVENILE	

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	120,000	18.0	6,667	JUVENILE	SOOES R 20.0015	AD	
05/2009	05/2009	40,000	18.0	2,222	JUVENILE	SOOES R 20.0015	AD	<b>✓</b>
05/2009	05/2009	40,000	18.0	2,222	JUVENILE	SOOES R 20.0015		✓

Release about May 15 at 15-20 fpp. Excess to program will be stocked on station as fry.

#### MAKAH NFH ON SOOES R

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

**Stock:** SOOES R 20.0015

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake	450,000	
Shipping	40,000	2,222
Receive		
Planted	200,000	11,111

#### **Estimated Brood Data**

Egg Take Goal 450,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2010	03/2010	EDUCKET CR HATCHERY	40,000	18.0	2,222 JUVENILE

### **Estimated Release Data**

Memo:

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	120,000	18.0	6,667	JUVENILE	SOOES R 20.0015	AD	
05/2010	05/2010	40,000	18.0	2,222	JUVENILE	SOOES R 20.0015	AD	<b>✓</b>
05/2010	05/2010	40,000	18.0	2,222	JUVENILE	SOOES R 20.0015		$\checkmark$

Release about May 15 at 15-20 fpp. Excess to program will be stocked on station as fry.

#### MARBLEMOUNT HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake		
Shipping	130,000	5,200
Receive		
Planted	250,000	14,706

**Page 117** 

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	OAK HARBOR NET PENS	30,000	25.0	1,200	JUVENILE
Shipped	02/2009	02/2009	SKAGIT SYSTEM COOP	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	$\checkmark$
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		✓

#### MARBLEMOUNT HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	650,000	
Shipping	132,750	5,200
Receive		
Planted	250,000	14,706

### **Estimated Brood Data**

Egg Take Goal 650,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	REG 4 ED COOPS	2,750			EGGS EYED
Shipped	02/2010	02/2010	OAK HARBOR NET PENS	30,000	25.0	1,200	JUVENILE
Shipped	02/2010	02/2010	SKAGIT SYSTEM COOP	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	<b>✓</b>
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		✓

Memo:

#### MARBLEMOUNT HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	1,650,000	
Receive	1,700,000	
Planted		

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	1,700,000			EGGS GREEN
Shipped	01/2009	01/2009	SKOOKUMCHUCK HATCHRY	1,650,000			EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo: Maintained on pathogen-free water.

#### MARCH SPAWNING CHNL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WILLAPA R 24.0251

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	300,000	
Planted	270,000	540

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	FORKS CREEK HATCHERY	300,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	270,000	500.0	540	JUVENILE	NORTH R 24.0034		

Memo: Planted into spawning channel.

#### MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** WASHINGTON - GENERAL

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	10,000	909
		EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

Memo: Local stock released on-station

#### MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted		

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	5,000			EGGS EYED

## **Estimated Release Data**

Start Date End Date Num Release F11 I total I ould Ene Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Backfill if eggtake not met.

#### MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WASHINGTON - GENERAL

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

HATCHERY: INTEGRATED

EggTake 30,000
Shipping Receive Planted 25,000 939

**Estimated Brood Data** 

Egg Take Goal 30,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	500.0	30	JUVENILE	DES MOINES C 09.0377	AD	
05/2010	05/2010	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

Memo: Local stock released on-station

#### MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	150,000	6,818
Receive		
Planted		

**Page 124** 

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage	
Shipped	02/2009	02/2009	ABERDEEN NET PENS	150,000	22.0	6,818 JUVENILE	

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

#### MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WISHKAH R 22.0191

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	360,000	
Shipping	175,000	7,818
Receive	35,000	·
Planted	150,000	8,824

### **Estimated Brood Data**

Egg Take Goal 360,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	BUZZARD CR COOP	35,000			EGGS GREEN
Shipped	09/2009	11/2009	BUZZARD CR COOP	25,000	25.0	1,000	EGGS EYED
Shipped	02/2010	02/2010	ABERDEEN NET PENS	150,000	22.0	6,818	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	150,000	17.0	8,824	JUVENILE	WISHKAH R 22.0191	AD	

#### MCALEER CR PROJECT

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	70,000	
Planted	70,000	47
		EggTake Shipping Receive 70,000

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	70,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	70,000	1,500.0	47	JUVENILE	MCALEER CR 08.0049		

Memo: Remote Site Incubator Project.

### **MEEKER MS (TACOMA)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	10,000	
Planted	10,000	7

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	10,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	10,000	1,500.0	7	JUVENILE	PUGET CREEK		

Memo: Unfed fry release into Puget Creek WRIA 10.

#### MINTER HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: MINTER CR 15.0048

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>	
EggTake			
Shipping			
Receive			
Planted	1,044,000	67,784	
	Shipping Receive	EggTake Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	784,000	17.0	46,118	JUVENILE	MINTER CR 15.0048	AD	
07/2009	07/2009	260,000	12.0	21,667	JUVENILE	MINTER CR 15.0048	AD	

#### MINTER HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: MINTER CR 15.0048

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,400,000	
Shipping	162,250	
Receive		
Planted	1,044,000	67,784

### **Estimated Brood Data**

**Egg Take Goal** 1,400,000

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	KEY PENNINSULA RSI	25,000			EGGS EYED
Shipped	01/2009	01/2009	OLYMPIA SALMON CLUB	50,000			EGGS EYED
Shipped	01/2009	01/2009	DOBBS CR PROJECT	5,000			EGGS EYED
Shipped	01/2009	01/2009	OLALLA ES (OLALLA)	50,000			EGGS EYED
Shipped	01/2009	01/2009	PORT ORCHARD ROTARY	15,000			EGGS EYED
Shipped	01/2009	01/2009	REG 6 ED COOPS	17,250			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	784,000	17.0	46,118	JUVENILE	MINTER CR 15.0048	AD	
07/2010	07/2010	260,000	12.0	21,667	<b>JUVENILE</b>	MINTER CR 15.0048	AD	

Memo:

#### **NASELLE HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	100,000	5,882

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	17.0	5,882	JUVENILE	NASELLE R 24.0543	AD	

#### **NASELLE HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: NASELLE R 24.0543

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	500,000	29,412

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	450,000	17.0	26,471	JUVENILE	NASELLE R 24.0543	AD	
04/2009	04/2009	50,000	17.0	2,941	JUVENILE	NASELLE R 24.0543	AD	✓

#### **NASELLE HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

**Species:** COHO

Run LATE

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	110,000	
Planted	100,000	5,882
	Shipping Receive	Shipping Receive 110,000

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	FORKS CREEK HATCHERY	110,000			EGGS GREEN

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	17.0	5,882	JUVENILE	NASELLE R 24.0543		

#### **NASELLE HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: NASELLE R 24.0543

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

 Total #
 Total Pounds

 EggTake
 800,000

 Shipping
 300,000

 Receive
 Planted
 500,000
 29,412

**Page 133** 

#### **Estimated Brood Data**

Egg Take Goal 800,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	JOHNSON CR PROJECT -RSI	50,000			EGGS EYED
Shipped	01/2009	01/2009	RFEG 10 WILLAPA BAY	250,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	450,000	17.0	26,471	JUVENILE	NASELLE R 24.0543	AD	
04/2010	04/2010	50,000	17.0	2,941	JUVENILE	NASELLE R 24.0543	AD	✓

#### **NELSON PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

ATCHERY NTEGRATED EggTake
Shipping
Receive 40,000
Planted 40,000 27

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	40,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	40,000	1,500.0	27	JUVENILE	DEER CR 01.0165		

Memo: RSI projects on Deer & Silver Creeks (Nooksack basin).

#### **NEMAH HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** NEMAH R 24.0460

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

EggTake
Shipping
Receive
Planted 500,000 29,412

#### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	45,000	17.0	2,647	JUVENILE	NORTH NEMAH R24.0460	AD	<b>✓</b>
04/2009	05/2009	455,000	17.0	26,765	JUVENILE	NORTH NEMAH R24.0460	AD	

#### **NEMAH HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** NEMAH R 24.0460

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	720,000	
Shipping		
Receive		
Planted	500,000	29,412

**Page 136** 

**Estimated Brood Data** 

Egg Take Goal 720,000

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	45,000	17.0	2,647	JUVENILE	NORTH NEMAH R24.0460	AD	<b>✓</b>
04/2010	05/2010	455,000	17.0	26,765	<b>JUVENILE</b>	NORTH NEMAH R24.0460	AD	

#### NORTH TOUTLE HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

Stock: TOUTLE R 26.0227

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds	
EggTake			
Shipping			
Receive			
Planted	800,000	53,333	
	Shipping Receive	EggTake Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	770,000	15.0	51,333	JUVENILE	GREEN R 26.0323	AD	
05/2009	05/2009	30,000	15.0	2,000	JUVENILE	GREEN R 26.0323	AD	✓

Memo: Will backfill from Grays River if necessary.

#### NORTH TOUTLE HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

Stock: TOUTLE R 26.0227

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake 1,000,000
Shipping Receive Planted 800,000 53,333

**Estimated Brood Data** 

**Egg Take Goal** 1,000,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	770,000	15.0	51,333	JUVENILE	GREEN R 26.0323	AD	
05/2010	05/2010	30,000	15.0	2,000	JUVENILE	GREEN R 26.0323	AD	✓

Memo: Will backfill from Grays River if necessary.

#### **NWSSC - DES MOINES**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	SOOS CREEK HATCHERY	30,000	25.0	1,200	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

#### **NWSSC - DES MOINES**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
gTake		
ipping		
eceive	150,000	1,200
anted	150,000	2,080
	ipping ceive	gTake ipping ceive 150,000

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	120,000			EGGS EYED
Received	02/2010	02/2010	SOOS CREEK HATCHERY	30,000	25.0	1,200	JUVENILE

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	54,000	1,500.0	36	JUVENILE	DES MOINES C 09.0377		
04/2009	04/2009	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371	AD	
04/2009	04/2009	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371		
06/2010	06/2010	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

TA /	r	
IV	lem	1()

#### **NWSSC - LAEBUGTEN**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

**Species:** COHO

NA Run

ISSAQUAH CR 08.0178 Stock:

HATCHERY **Brood Origin:** 

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	1,200
Planted	25,000	2,500

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

To Laebugten Wharf Net Pens. Memo:

#### **NWSSC - LAEBUGTEN**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	110,000	1,200
Planted	105,000	2,660

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	80,000			EGGS EYED
Received	11/2009	11/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	65,000	500.0	130	JUVENILE	NORTH CR 08.0070		
04/2009	04/2009	15,000	500.0	30	JUVENILE	SWAMP CR 08.0059		
05/2010	05/2010	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

Memo: To Laebugten Wharf Net Pens.

#### **NWSSC-EVERETT N PEN**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

#### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	WALLACE R HATCHERY	20,000	25.0	800	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	20,000	15.0	1,333	JUVENILE	MUKILTEO NET PENS	AD	

#### **NWSSC-EVERETT N PEN**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	20,000	800
Planted	20,000	1,333

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	20,000	25.0	800	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	20,000	15.0	1,333	JUVENILE	MUKILTEO NET PENS	AD	

TA /	r	
	lem	

### OAK HARBOR NET PENS

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,500

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	30,000	25.0	1,200 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

### OAK HARBOR NET PENS

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,500

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds L	Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	30,000	25.0	<b>1,200</b> J	UVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

TA 4	r	
	lem	

### OCOSTA HIGH PROJECT - RSI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	100

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	BINGHAM CR HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
01/2009	01/2009	25,000	500.0	50	JUVENILE	ELK R 22.1333		
05/2009	05/2009	25,000	500.0	50	JUVENILE	JOHNS R 22.1270		

### **OLALLA ES (OLALLA)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: MINTER CR 15.0048

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	33

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	25,000	1,500.0	17	JUVENILE	BURLEY CR 15.0056		
02/2009	02/2009	25,000	1,500.0	17	<b>JUVENILE</b>	OLALLA CR 15.0107		

Memo: Unfed fry release.

### **OLYMPIA SALMON CLUB**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: MINTER CR 15.0048

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	33

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	50,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	50,000	1,500.0	33	JUVENILE	WOODARD CR 13.0012		

Memo: Remote Site Incubator Project.

### **ORTING COOP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	50,000	313

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	50,000	160.0	313	JUVENILE	BRADLEY CR 10.0477		

### **PACIFIC CO ANGLERS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	220,000	
Planted	200,000	133

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	FORKS CREEK HATCHERY	220,000			EGGS GREEN

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
01/2009	01/2009	50,000	1,500.0	33	JUVENILE	WALKER CR 24.0369		
01/2009	01/2009	50,000	1,500.0	33	JUVENILE	STRINGER CR 24.0339		
01/2009	01/2009	50,000	1,500.0	33	<b>JUVENILE</b>	MILL CR 24.0322		
01/2009	01/2009	50,000	1,500.0	33	<b>JUVENILE</b>	WILLAPA R 24.0251		

Memo: Remote Stie Incubator Project.

### PEDERSEN PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	50,000	
Planted	45,000	30

**Page 152** 

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	50,000			EGGS EYED

## **Estimated Release Data**

Monday, July 21, 2008

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	45,000	1,500.0	30	JUVENILE	NEWAUKUM R-NF23.0887		

Memo:

### PETERSON PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

Stock: CHINOOK R 24.0800

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	500	2
Planted	500	1

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	04/2009	04/2009	SEA RESOURCES HATCH	500	250.0	2 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	500	500.0	1	JUVENILE	COLUMBIA R - GENERAL		

### PORT GAMBLE BAY PENS

### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG QUILCENE 17.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	425,000	17,000
Planted	400,000	26,667

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	GEORGE ADAMS HATCHRY	425,000	25.0	17,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	355,000	15.0	23,667	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2009	06/2009	45,000	15.0	3,000	<b>JUVENILE</b>	PORT GAMBLE BAY PENS	AD	<b>✓</b>

### PORT GAMBLE BAY PENS

### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

**Species:** COHO NA Run

BIG QUILCENE 17.0012 Stock:

**HATCHERY Brood Origin: Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	425,000	17,000
Planted	400,000	26,667

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2010	02/2010	GEORGE ADAMS HATCHRY	425,000	25.0	17,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	355,000	15.0	23,667	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2010	06/2010	45,000	15.0	3,000	<b>JUVENILE</b>	PORT GAMBLE BAY PENS	AD	$\checkmark$

### PORT ORCHARD ROTARY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: MINTER CR 15.0048

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	15,000	
Planted	15,000	10

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	15,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	15,000	1,500.0	10	JUVENILE	KARCHER CR 15.0201		

Memo: Remote Site Incubator Project.

### PORTAGE BAY HATCHERY

SCHOOL OF FISHERIES, UNIVERSITY OF WASHINGTON

NORTH PUGET SOUND

**Brood Year:** 2008

**Species:** COHO

Run NA

**Stock:** PORTAGE BAY STOCK UW

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	200,000	
Shipping		
Receive		
Planted	90,000	3,000

### **Estimated Brood Data**

Egg Take Goal 200,000

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	90,000	30.0	3,000	JUVENILE	PORTAGE BAY/SHIP CNL	AD	

Memo: Anticipated maximum eggtake - fluctuates with research needs.

### POSSESSION NET PENS

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2007

**Species:** COHO

Run NA

**Stock:** SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	WALLACE R HATCHERY	50,000	25.0	2,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	15.0	3,333	JUVENILE	POSSESSION NET PENS	AD	

### POSSESSION NET PENS

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

**Species:** COHO

Run NA

**Stock:** SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

EggTake
Shipping
Receive 50,000 2,000
Planted 50,000 3,333

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds I	Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	50,000	25.0	<b>2,000</b> J	UVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	15.0	3,333	JUVENILE	POSSESSION NET PENS	AD	

### PUYALLUP TRIBAL HATCHERY

### PUYALLUP TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	100,000	3,333
Planted	100,000	3,333 5,556

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	100,000	30.0	3,333 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	100,000	18.0	5,556	JUVENILE	RUSHINGWATER 10.0625	AD	✓

### PUYALLUP TRIBAL HATCHERY

### PUYALLUP TRIBE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	100,000	3,333
Planted	100,000	5,556

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	VOIGHTS CR HATCHERY	100,000	30.0	3,333 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	100,000	18.0	5,556	JUVENILE	RUSHINGWATER 10.0625	AD	<b>✓</b>

onday, July 21, 2008	Page 1	61	

### **QUILCENE BAY SEA PEN**

### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG QUILCENE 17.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	200,000	8,000
Planted	200,000	13,333

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	QUILCENE NFH	200,000	25.0	8,000 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	110,000	15.0	7,333	JUVENILE	QUILCENE BAY SEAPENS	AD	
06/2009	06/2009	45,000	15.0	3,000	JUVENILE	QUILCENE BAY SEAPENS	AD	<b>~</b>
06/2009	06/2009	45,000	15.0	3,000	JUVENILE	QUILCENE BAY SEAPENS		$\checkmark$

## QUILCENE BAY SEA PEN

### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

**Species:** COHO Run

NA

BIG QUILCENE 17.0012 Stock:

**HATCHERY Brood Origin: Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	200,000	8,000
Planted	200,000	13,333

## **Estimated Brood Data**

**Egg Take Goal** 

Memo:

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	QUILCENE NFH	200,000	25.0	8,000 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	110,000	15.0	7,333	JUVENILE	QUILCENE BAY SEAPENS	AD	
06/2010	06/2010	45,000	15.0	3,000	JUVENILE	QUILCENE BAY SEAPENS	AD	<b>~</b>
06/2010	06/2010	45,000	15.0	3,000	JUVENILE	QUILCENE BAY SEAPENS		✓

Monday, July 21, 2008	Page 163

### **QUILCENE NFH**

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run NA

Stock: BIG QUILCENE 17.0012

**Brood Origin:** HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	200,000	8,000
Receive		
Planted	400,000	22,222

## **Estimated Brood Data**

**Egg Take Goal** 

Memo:

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2009	03/2009	QUILCENE BAY SEA PEN	200,000	25.0	8,000 JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	300,000	18.0	16,667	JUVENILE	BIG QUILCENE 17.0012	AD	
05/2009	05/2009	50,000	18.0	2,778	JUVENILE	BIG QUILCENE 17.0012	AD	<b>✓</b>
05/2009	05/2009	50,000	18.0	2,778	JUVENILE	BIG QUILCENE 17.0012		✓

### **QUILCENE NFH**

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG QUILCENE 17.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake	1,300,000	
Shipping	650,000	8,000
Receive		
Planted	400,000	22,222

### **Estimated Brood Data**

**Egg Take Goal** 1,300,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	GEORGE ADAMS HATCHRY	450,000			EGGS EYED
Shipped	03/2010	03/2010	QUILCENE BAY SEA PEN	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	320,000	18.0	17,778	JUVENILE	BIG QUILCENE 17.0012	AD	
05/2010	05/2010	40,000	18.0	2,222	JUVENILE	BIG QUILCENE 17.0012	AD	<b>~</b>
05/2010	05/2010	40,000	18.0	2,222	JUVENILE	BIG QUILCENE 17.0012		✓

Memo:

### QUINAULT NFH -COOK C

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** COOK CR 21.0429

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

EggTake
Shipping
Receive
Planted 660,000 36,667

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	500,000	18.0	27,778	JUVENILE	COOK CR 21.0429	AD	
05/2009	05/2009	80,000	18.0	4,444	JUVENILE	COOK CR 21.0429	AD	<b>✓</b>
05/2009	05/2009	80,000	18.0	4,444	JUVENILE	COOK CR 21.0429		✓

Memo: Excess to program needs will be stocked into the Raft River and Moclips as fry.

### QUINAULT NFH -COOK C

U.S. FISH AND WILDLIFE SERVICE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** COOK CR 21.0429

Brood Origin: HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
EggTake	700,000	
Shipping	300	
Receive		
Planted	803,000	36,953

### **Estimated Brood Data**

Egg Take Goal 700,000

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	REG 6 ED COOPS	300			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	143,000	500.0	286	JUVENILE	COOK CR 21.0429		
05/2010	05/2010	500,000	18.0	27,778	<b>JUVENILE</b>	COOK CR 21.0429	AD	
05/2010	05/2010	80,000	18.0	4,444	JUVENILE	COOK CR 21.0429	AD	$\checkmark$
05/2010	05/2010	80,000	18.0	4,444	<b>JUVENILE</b>	COOK CR 21.0429		✓

Memo: Excess to program needs will be stocked into the Raft River and Moclips as fry.

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

EggTake
Shipping
Receive 16,000
Planted

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	16,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Kent School District, Endeavour IS, Chief Sealth HS, SIC Programs.

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
gTake		
pping		
ceive	10,700	
nted		
	gTake pping ceive nted	gTake apping ceive 10,700

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	10,700			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: For Seattle Schools, Duvall Christian, Holy Rosary, SIC Programs

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	250	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	250			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: For SIC project at Central Elementary School.

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	2,750	
Planted	250	

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	2,750			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	250			JUVENILE	LK CAMPBELL (SKAG)		

Memo: Mt. Erie Elem. See note for transfer from Marblemount.

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	12,000	1
Planted	5,000	10
	Shipping Receive	EggTake Shipping Receive 12,000

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	11,000			EGGS EYED
Received	04/2009	04/2009	WALLACE R HATCHERY	1,000	1,000.0	1	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	500.0	10	JUVENILE	PIGEON #1 07.1722		

### **REG 4 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	250	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	250			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Tiddin Itelease			Ene Stage	Trefetable bitte	man 1, pc	- uggeu

Memo: For SIC project at Keithley Middle School.

### **REG 5 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

Stock: COWLITZ R 26.0002

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
]	EggTake		
	Shipping		
]	Receive	1,700	
]	Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	COWLITZ SALMON HATCH	1,700			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects. Including Coal Creek.

### **REG 5 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: ELOCHOMAN R 25.0236

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	500	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2008	01/2008	ELOCHOMAN HATCHERY	500			EGGS EYED

### **Estimated Release Data**

Start Date End Date Num Release III I total I build Ente Stage Release Site Mark Type I agged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Aquarium in the classroom project. Cathlamet High School.

### **REG 5 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

**Stock:** LEWIS R 27.0168

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	21,500	
Planted	10,000	7

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LEWIS RIVER HATCHERY	21,500			EGGS EYED

### **Estimated Release Data**

Start Date E	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--------------	----------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Planted into Gee Creek egg box from Ridgefield High School.

### **REG 5 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

**Species:** СОНО

TYPE N Run

Stock: WASHOUGAL R 28.0159

**Brood Origin: HATCHERY** 

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	500	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	WASHOUGAL HATCHERY	500			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

To approved list of SIC projects. Memo:

### **REG 5 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

**Species:** СОНО TYPE S

Stock: KALAMA R 27.0002

**HATCHERY** 

**Brood Origin: Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,000	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

Run

## **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	FALLERT CR HATCHERY	1,000			EGGS EYED

## **Estimated Release Data**

Start Date End Date Num Release F11 I total I ould Ene Stage Release Site Mark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

To approved list of SIC projects. Memo:

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	5,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
01/2009	01/2009	25,000	1,500.0	17	JUVENILE	NEWAUKUM-NF T23.0909		

Memo: To list of approved SIC projects.

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** COOK CR 21.0429

**Brood Origin:** HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	300	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	QUINAULT NFH -COOK C	300			EGGS EYED

### **Estimated Release Data**

Start Date End Date Multi Release 111 Total Found Ene Stage Release Site Mark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Taholah Schools. Resulting fish will be returned to QNFH.

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: DUNGENESS R 18.0018

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

EggTake
Shipping
Receive 6,750
Planted

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	HURD CR HATCHERY	6,750			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: MINTER CR 15.0048

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	17,250	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	17,250			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	25,000	
Planted	25,000	17

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	25,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
01/2009	01/2009	25,000	1,500.0	17	JUVENILE	NEWAUKUM-NF T23.0909		

Memo: Byrd Creek Project/Local Schools. Approved 5 years starting with BY 2006

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** VAN WINKLE C 22.0240

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,450	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	LK ABERDEEN HATCHERY	5,450			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

### **REG 6 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	11,500	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	11,500			EGGS EYED

# **Estimated Release Data**

Start Date End Date Num Release F11 I total I ould Ene Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

### **RFEG 10 WILLAPA BAY**

#### WILLAPA BAY REGIONAL ENHANCEMENT GROUP

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: NASELLE R 24.0543

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	250,000	
Planted	250,000	167

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	NASELLE HATCHERY	250,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	100,000	1,500.0	67	JUVENILE	WILLAPA R TR 24.0299		
02/2009	02/2009	100,000	1,500.0	67	JUVENILE	WILLAPA R TR 24.0299		
02/2009	02/2009	50,000	1,500.0	33	JUVENILE	WILLAPA R TR 24.0299		

Memo: 100,000 into Lewis and Porter Units, 50,000 into Long Island

### **RFEG 10 WILLAPA BAY**

#### WILLAPA BAY REGIONAL ENHANCEMENT GROUP

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: WILLAPA R 24.0251

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	270,000	
Planted	250,000	167

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	FORKS CREEK HATCHERY	270,000			EGGS EYED

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	250,000	1,500.0	167	JUVENILE	OXBOW CR 24.0344		

- 1	/	01	m	0	
		e	m		

### **RFEG 8 NORTH COAST**

NORTH COAST REGIONAL ENHANCEMENT GROUP

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: BOGACHIEL R 20.0162

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	12,500	
Shipping		
Receive		
Planted	12,500	8

### **Estimated Brood Data**

Egg Take Goal 12,500

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	12,500	1,500.0	8	JUVENILE	BOGACHIEL R TRIBS		

Memo: Borde Springs Project. No more than 5 pair, brood-stocked from the Bogachiel.

### **ROCHESTER FFA**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	25,000	
Planted	25,000	17

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	BINGHAM CR HATCHERY	25,000			EGGS EYED

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	25,000	1,500.0	17	JUVENILE	PRAIRIE CR 23.0729		

Memo: Egg tube survival study

### ROGER URBANIAK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: ISSAQUAH CR 08.0178

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 205,000
Planted 205,000 137

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	205,000			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	10,000	1,500.0	7	JUVENILE	UNNAMED CR 08.0275		
03/2009	03/2009	5,000	1,500.0	3	<b>JUVENILE</b>	VALLEY CR 08.0270		
03/2009	03/2009	30,000	1,500.0	20	<b>JUVENILE</b>	KELSEY CR08.0259-R02		
03/2009	03/2009	80,000	1,500.0	53	<b>JUVENILE</b>	JUANITA CR 08.0230		
03/2009	03/2009	80,000	1,500.0	53	JUVENILE	LK WASHINGTON (KING)		

Memo: This project is part of the former 10 million salmon and Medina RSI. 10,000 to Medina, 80,000 to Cozy Cove.

### SALMON R FISH CULTUR

#### QUINAULT DEPARTMENT OF NATURAL RESOURCES

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SALMON R 21.0139

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	650,000	43,333
	Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	500,000	15.0	33,333	JUVENILE	SALMON R 21.0139	AD	
04/2009	04/2009	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$
04/2009	04/2009	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139		✓

### SALMON R FISH CULTUR

#### QUINAULT DEPARTMENT OF NATURAL RESOURCES

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SALMON R 21.0139

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake	800,000	
Shipping		
Receive		
Planted	650,000	43,333

**Estimated Brood Data** 

Egg Take Goal 800,000

**Estimated Transfer Data** 

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Simple of Itelerie	20020			1 (61110 01		200012001100 21100000

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	500,000	15.0	33,333	JUVENILE	SALMON R 21.0139	AD	
04/2010	04/2010	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139	AD	<b>✓</b>
04/2010	04/2010	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139		✓

Memo:

### **SATSOP SPRINGS PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive
Planted 450,000 26,471

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped of Receive	Start Date	Liiu Dutt	i acmity	rumber		Total Founds Enc Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	410,000	17.0	24,118	JUVENILE	SATSOP R 22.0360	AD	
05/2009	05/2009	40,000	17.0	2,353	JUVENILE	SATSOP R 22.0360	AD	✓

### **SATSOP SPRINGS PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	625,000	6,250
Planted	450,000	26,471

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2009	06/2009	BINGHAM CR HATCHERY	625,000	100.0	<b>6,250</b> JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	410,000	17.0	24,118	JUVENILE	SATSOP R 22.0360	AD	
05/2010	05/2010	40,000	17.0	2,353	<b>JUVENILE</b>	SATSOP R 22.0360	AD	<b>✓</b>

### **SEA RESOURCES HATCH**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE S

Stock: CHINOOK R 24.0800

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	EggTake		
S	Shipping		
F	Receive		
P	Planted	52,500	3,500

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	52,500	15.0	3,500	JUVENILE	CHINOOK R 24.0800	AD	

Memo: 10-15 fpp.

### **SEA RESOURCES HATCH**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

Stock: CHINOOK R 24.0800

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	75,000	
Shipping	500	2
Receive		
Planted	52,500	3,500

### **Estimated Brood Data**

Egg Take Goal 75,000

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2009	04/2009	PETERSON PROJECT	500	250.0	2	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	52,500	15.0	3,500	JUVENILE	CHINOOK R 24.0800	AD	

Memo: 10-15 fpp.

### **SEATTLE AQUARIUM**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
Egg	Take		
Ship	pping		
Rec	eive	2,000	80
Plan	ited		

### **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	SOOS CREEK HATCHERY	2,000	25.0	80	JUVENILE

# **Estimated Release Data**

Start Date End Date Num Release III I total I build Ente Stage Release Site Mark Type I agged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: For display.

### **SEATTLE AQUARIUM**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	2,000	80
Planted		

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	SOOS CREEK HATCHERY	2,000	25.0	80 JUVENILE

# **Estimated Release Data**

Start Date End Date Num Release FFF Total Pound Life Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: For display.

### **SEATTLE POGGIE CLUB**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

**Species:** COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	54,000	3,600
	Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	54.000	15.0	3,600	JUVENILE	EAGLE CR 07.1416	AD	

### **SEATTLE POGGIE CLUB**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	60,000	
Planted	54,000	3,600

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	60,000			EGGS EYED

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	54,000	15.0	3,600	JUVENILE	EAGLE CR 07.1416	AD	

### **SKAGIT SYSTEM COOP**

#### SKAGIT SYSTEM COOPERATIVE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	100,000	4,000
Planted	100,000	4,000
	Shipping Receive	EggTake Shipping Receive 100,000

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	100,000	25.0	4,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	100,000	25.0	4,000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	

Memo: This is actually a direct plant. Previously it was a transfer to Swinomish Channel.

### **SKAGIT SYSTEM COOP**

#### SKAGIT SYSTEM COOPERATIVE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	100,000	4,000
Planted	100,000	4,000

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	100,000	25.0	4,000	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	100,000	25.0	4,000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	

Memo: This is actually a direct plant. Previously it was a transfer to Swinomish Channel.

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO Run NA

Stock: LUMMI BAY (SEA POND)

Brood Origin: HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	1,000,000	25,000
Receive		
Planted		

# **Estimated Brood Data**

**Egg Take Goal** 

Memo:

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2009	04/2009	LUMMI SEA PONDS	1,000,000	40.0	25,000	JUVENILE

# **Estimated Release Data**

Start Date End Date Num Release FFF Total Pound Life Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKOOKUM CR 01.0273

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	1,000,000	66,667

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2009	06/2009	50,000	15.0	3,333	JUVENILE	SKOOKUM CR 01.0273	AD	✓

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2008

**Species:** COHO

Run NA

**Stock:** LUMMI BAY (SEA POND)

Brood Origin: HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	1,000,000	25,000
Receive	1,200,000	,
Planted		

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	LUMMI SEA PONDS	1,200,000			EGGS EYED
Shipped	04/2010	04/2010	LUMMI SEA PONDS	1,000,000	40.0	25,000	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged

#### LUMMI TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO Run NA

Stock: SKOOKUM CR 01.0273

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	1,600,000	
Shipping		
Receive		
Planted	1,000,000	66,667
	EggTake Shipping Receive Planted	EggTake 1,600,000 Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 1,600,000

# **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Memo:

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2010	06/2010	50,000	15.0	3,333	<b>JUVENILE</b>	SKOOKUM CR 01.0273	AD	<b>✓</b>

### SKOOKUMCHUCK HATCHRY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,283
Planted	50,000	2,778
	Shipping Receive	EggTake Shipping Receive 52,500

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	BINGHAM CR HATCHERY	52,500	23.0	2,283 JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	<b>✓</b>
04/2009	04/2009	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	✓

### SKOOKUMCHUCK HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	EggTake		
S	Shipping		
R	Receive	52,500	2,386
P	Planted	50,000	2,778

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	BINGHAM CR HATCHERY	52,500	22.0	2,386 JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	<b>✓</b>
04/2009	04/2009	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	✓

Memo: Hold until May if possible.

### SKOOKUMCHUCK HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKAGIT R 03.0176

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	50,000	2,174
Receive		
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	02/2009	SOUTH SOUND NET PENS	50,000	23.0	2,174	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: One time In-seaon change for BY 2007 only. Fish received 01/2008

### SKOOKUMCHUCK HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	1,520,000	60,800
Receive		
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	02/2009	SOUTH SOUND NET PENS	810,000	25.0	32,400	JUVENILE
Shipped	01/2009	02/2009	SQUAXIN ISLAND PENS	710,000	25.0	28,400	JUVENILE

# **Estimated Release Data**

Start Date End Date Num Release III I total I build Ente Stage Release Site Mark Type I agged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Maintained on pathogen-free water.

### SKOOKUMCHUCK HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run LATE

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	52,500	2,386
Planted	50,000	3,571

# **Estimated Brood Data**

**Egg Take Goal** 

Memo:

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	BINGHAM CR HATCHERY	52,500	22.0	2,386 JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	<b>✓</b>
04/2010	04/2010	50,000	14.0	3,571	JUVENILE	SKOOKUMCHUCK 23.0761	AD	$\checkmark$

iday, July 21, 2008	Page 2	211	

### SKOOKUMCHUCK HATCHRY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

**Species:** COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake		
Shipping		
Receive	52,500	2,386
Planted	50,000	2,778
	Shipping Receive	EggTake Shipping Receive 52,500

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	BINGHAM CR HATCHERY	52,500	22.0	2,386 JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	50,000	18.0	2,778	JUVENILE	SKOOKUMCHUCK 23.0761	AD	<b>✓</b>
04/2010	04/2010	50,000	14.0	3,571	JUVENILE	SKOOKUMCHUCK 23.0761	AD	$\checkmark$

Memo: Hold until May if possible.

### SKOOKUMCHUCK HATCHRY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
E	EggTake		
S	Shipping	1,520,000	60,800
F	Receive	1,650,000	
F	Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	MARBLEMOUNT HATCHERY	1,650,000			EGGS EYED
Shipped	01/2010	02/2010	SOUTH SOUND NET PENS	810,000	25.0	32,400	JUVENILE
Shipped	01/2010	02/2010	SQUAXIN ISLAND PENS	710,000	25.0	28,400	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged

Memo: Maintained on pathogen-free water.

### SKY VALLEY SDA SCHL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	10,000	
Planted	10,000	20

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	10,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	2,500	500.0	5	JUVENILE	WOODS CR 07.0884		
05/2009	05/2009	5,000	500.0	10	<b>JUVENILE</b>	WINTERS CR 07.0882		
05/2009	05/2009	2,500	500.0	5	JUVENILE	SKYKOMISH TRB 7.0065		

Memo: Released into Groeneveld Cr (WRIA 07).

### **SNOHOMISH SPORTSMEN**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	24,000	24
Planted	24,000	24

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	03/2009	WALLACE R HATCHERY	24,000	1,000.0	24	JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	12,000	1,000.0	12	JUVENILE	PILCHUCK R 07.0125		
03/2009	03/2009	12,000	1,000.0	12	<b>JUVENILE</b>	SNOHOMISH R 07.0012		

### SOLDUC HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

**Stock:** SOL DUC R 20.0096

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	600,000	40,000

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	
04/2009	04/2009	450,000	15.0	30,000	<b>JUVENILE</b>	SOL DUC R 20.0096	AD	
04/2009	04/2009	75,000	15.0	5,000	<b>JUVENILE</b>	SOL DUC R 20.0096	AD	<b>✓</b>
04/2009	04/2009	75,000	15.0	5,000	<b>JUVENILE</b>	SOL DUC R 20.0096		✓

Memo:

### SOLDUC HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run SUMMER

**Stock:** SOL DUC R 20.0096

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	100,000	6,667

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	
04/2009	04/2009	450,000	15.0	30,000	JUVENILE	SOL DUC R 20.0096	AD	
04/2009	04/2009	75,000	15.0	5,000	JUVENILE	SOL DUC R 20.0096	AD	✓
04/2009	04/2009	75,000	15.0	5,000	JUVENILE	SOL DUC R 20.0096		✓

Memo:

### SOLDUC HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

**Stock:** SOL DUC R 20.0096

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds	
EggTake	700,000		
Shipping			
Receive			
Planted	600,000	40,000	
	Shipping Receive	EggTake 700,000 Shipping Receive	EggTake 700,000 Shipping Receive

**Estimated Brood Data** 

Egg Take Goal 700,000

**Estimated Transfer Data** 

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Memo:

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	
04/2010	04/2010	450,000	15.0	30,000	JUVENILE	SOL DUC R 20.0096	AD	
04/2010	04/2010	75,000	15.0	5,000	JUVENILE	SOL DUC R 20.0096	AD	✓
04/2010	04/2010	75,000	15.0	5,000	JUVENILE	SOL DUC R 20.0096		✓

### **SOLDUC HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run SUMMER

**Stock:** SOL DUC R 20.0096

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	118,000	
Shipping		
Receive		
Planted	100,000	6,667

**Estimated Brood Data** 

Egg Take Goal 118,000

**Estimated Transfer Data** 

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	
04/2010	04/2010	450,000	15.0	30,000	<b>JUVENILE</b>	SOL DUC R 20.0096	AD	
04/2010	04/2010	75,000	15.0	5,000	<b>JUVENILE</b>	SOL DUC R 20.0096	AD	✓
04/2010	04/2010	75,000	15.0	5,000	<b>JUVENILE</b>	SOL DUC R 20.0096		✓

### SOOS CREEK HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	832,000	11,280
Receive		
Planted	600,000	35,294

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	08/2008	08/2008	CRISP CR REARING PON	800,000	80.0	10,000	JUVENILE
Shipped	02/2009	02/2009	SEATTLE AQUARIUM	2,000	25.0	80	JUVENILE
Shipped	02/2009	02/2009	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072	AD	<b>✓</b>
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072		✓

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

### SOOS CREEK HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2008 **Species:** COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,925,000	
Shipping	1,084,000	11,342
Receive		
Planted	600,000	35,294

### **Estimated Brood Data**

**Egg Take Goal** 1,925,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	01/2009	MARINE TECH CENTR	5,000			EGGS EYED
Shipped	12/2008	01/2009	NWSSC - DES MOINES	120,000			EGGS EYED
Shipped	12/2008	01/2009	CITY OF TUKWILA	80,000			EGGS EYED
Shipped	12/2008	01/2009	REG 4 ED COOPS	16,000			EGGS EYED
Shipped	03/2009	03/2009	WORDAN PROJECT	1,000	500.0	2	JUVENILE
Shipped	04/2009	04/2009	VASHON SPORTSMEN	30,000	500.0	60	JUVENILE
Shipped	08/2009	08/2009	CRISP CR REARING PON	800,000	80.0	10,000	JUVENILE
Shipped	02/2010	02/2010	SEATTLE AQUARIUM	2,000	25.0	80	JUVENILE
Shipped	02/2010	02/2010	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2010 05/2010	05/2010 05/2010	45,000 45,000	17.0 17.0	2,647 2,647	JUVENILE JUVENILE	BIG SOOS CR 09.0072 BIG SOOS CR 09.0072	AD	<b>✓</b>

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

### SOUTH SOUND NET PENS

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds	
EggTake			
Shipping			
Receive	1,115,000	44,600	
Planted	1,100,000	110,000	
	Shipping Receive	EggTake Shipping Receive 1,115,000	EggTake Shipping Receive 1,115,000 44,600

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	02/2009	SKOOKUMCHUCK HATCHRY	810,000	25.0	32,400	JUVENILE
Received	01/2009	02/2009	WALLACE R HATCHERY	305,000	25.0	12,200	JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	1,050,000	10.0	105,000	JUVENILE	PEALE PASS @ SS PENS	AD	
05/2009	06/2009	50,000	10.0	5,000	JUVENILE	PEALE PASS @ SS PENS	AD	✓

Memo:

### SOUTH SOUND NET PENS

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,115,000	47,417
Planted	1,100,000	110,000
	EggTake Shipping Receive Planted	EggTake Shipping Receive 1,115,000

**Page 223** 

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	02/2010	SKOOKUMCHUCK HATCHRY	810,000	23.0	35,217	JUVENILE
Received	01/2010	02/2010	WALLACE R HATCHERY	305,000	25.0	12,200	JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	1,050,000	10.0	105,000	JUVENILE	PEALE PASS @ SS PENS	AD	
05/2010	06/2010	50,000	10.0	5,000	JUVENILE	PEALE PASS @ SS PENS	AD	✓

N /I	Δr	nc

### **SPEELYAI HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** WILD

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake	440,000	
Shipping	400,000	
Receive		
Planted		

### **Estimated Brood Data**

Egg Take Goal 440,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	WASHOUGAL HATCHERY	400,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: All eggs otolith marked.

### **SPEELYAI HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE S

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,150,000	
Shipping	1,050,000	
Receive		
Planted		

**Estimated Brood Data** 

**Egg Take Goal** 1,150,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	LEWIS RIVER HATCHERY	1,050,000			EGGS EYED

# **Estimated Release Data**

Memo:

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

### **SQUALICUM NET PENS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY

Integrated/Segregated: INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	200
Planted	5,000	333

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	KENDALL CR HATCHERY	5,000	25.0	200	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	15.0	333	JUVENILE	SQUALICUM HARBOR	AD	

Memo: Part of Whatcom Creek program.

### **SQUALICUM NET PENS**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	200
Planted	5,000	333

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2010	02/2010	KENDALL CR HATCHERY	5,000	25.0	200	JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	5,000	15.0	333	JUVENILE	SQUALICUM HARBOR	AD	

Memo: Part of Whatcom Creek program.

# **SQUAXIN ISLAND PENS**

#### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	710,000	28,400
Planted	700,000	70,000

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	02/2009	SKOOKUMCHUCK HATCHRY	710,000	25.0	28,400	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	700,000	10.0	70,000	JUVENILE	PEALE PASS @ SS PENS	AD	

TA /	r	
IV	lem	1()

# **SQUAXIN ISLAND PENS**

#### **INTERAGENCY PROJECTS**

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	710,000	28,400
Planted	700,000	70,000

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	02/2010	SKOOKUMCHUCK HATCHRY	710,000	25.0	28,400	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	700,000	10.0	70,000	JUVENILE	PEALE PASS @ SS PENS	AD	

### STEVE SYVERSON PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO

Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	5,000	
Planted	5,000	3

**Page 230** 

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LEWIS RIVER HATCHERY	5,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	5,000	1,500.0	3	JUVENILE	SALMON CR 28.0059		

### STILLAGUAMISH HATCH

#### STILLAGUAMISH TRIBE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: STILLAGUAMISH R

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	50,000	2,778

**Page 231** 

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

Monday, July 21, 2008

# **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	18.0	2,778	JUVENILE	STILLAGUAMISH R -NF	AD	

### STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: STILLAGUAMISH R

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	70,000	
Shipping		
Receive		
Planted	50,500	2,780

### **Estimated Brood Data**

Egg Take Goal 70,000

# **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	500	250.0	2	JUVENILE	STILLAGUAMISH R -SF		
05/2010	05/2010	50,000	18.0	2,778	<b>JUVENILE</b>	STILLAGUAMISH R	AD	

### **SURPRISE LAKE PROJ**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 10,000
Planted 10,000 7

**Total Pounds** 

Total #

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	10,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	10,000	1,500.0	7	JUVENILE	HYLEBOS CR 10.0006		

Memo: Remote Site Incubator Project.

### TOAD CREEK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	15,000	
Planted	15,000	10

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	15,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	1,500.0	10	JUVENILE	TOAD CR 01.0560		

Memo: Remote Site Incubator Project.

### **VASHON SPORTSMEN**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

**Species:** COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 30,000 60
Planted 30,000 60

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2009	04/2009	SOOS CREEK HATCHERY	30,000	500.0	60	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	500.0	30	JUVENILE	SHINGLE MILL 15.0130		
04/2009	04/2009	15,000	500.0	30	JUVENILE	JUDD CR 15.0129		

### **VERNERSBORG FIREFIGHTERS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	90,000	
Planted	90,000	60
	EggTake Shipping Receive Planted	EggTake Shipping Receive 90,000

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LEWIS RIVER HATCHERY	90,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	90,000	1,500.0	60	JUVENILE	SALMON CR 28.0059		

### **VOIGHTS CR HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>	
EggTake			
Shipping	100,000	3,333	
Receive			
Planted	780,000	45,882	

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	PUYALLUP TRIBAL HATCHERY	100,000	30.0	3,333	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	690,000	17.0	40,588	JUVENILE	VOIGHT CR 10.0414	AD	
04/2009	04/2009	45,000	17.0	2,647	<b>JUVENILE</b>	VOIGHT CR 10.0414		<b>✓</b>
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	VOIGHT CR 10.0414	AD	✓

Memo: Volitional Release.

### **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO Run NA

Stock: VOIGHT CR 10.0414

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	1,100,000	
Shipping	181,750	3,333
Receive		
Planted	780,000	45,882

### **Estimated Brood Data**

**Egg Take Goal** 1,100,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	MEEKER MS (TACOMA)	10,000			EGGS EYED
Shipped	02/2009	02/2009	ORTING COOP	50,000			EGGS EYED
Shipped	02/2009	02/2009	SURPRISE LAKE PROJ	10,000			EGGS EYED
Shipped	02/2009	02/2009	REG 6 ED COOPS	11,500			EGGS EYED
Shipped	02/2009	02/2009	REG 4 ED COOPS	250			EGGS EYED
Shipped	02/2010	02/2010	PUYALLUP TRIBAL HATCHERY	100,000	30.0	3,333	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	690,000	17.0	40,588	JUVENILE	VOIGHT CR 10.0414	AD	
04/2010	04/2010	45,000	17.0	2,647	<b>JUVENILE</b>	VOIGHT CR 10.0414		<b>✓</b>
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	VOIGHT CR 10.0414	AD	$\checkmark$

Memo: Volitional Release.

### WALLACE R HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	375,000	15,000
Receive		
Planted	150,000	8,824

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2009	01/2009	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2009	01/2009	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2009	02/2009	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	60,000	17.0	3,529	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012	AD	<b>✓</b>
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012		✓

Memo:

### WALLACE R HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2008
Species: COHO
Run NA

**Stock:** SKYKOMISH R 07.0012

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake	4,500,000	
Shipping	3,791,070	15,725
Receive		
Planted	150,000	8,824

### **Estimated Brood Data**

**Egg Take Goal** 4,500,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	09/2008	10/2008	WSU RESEARCH (PULLMAN)	50	0.1	500	ADULT
Shipped	09/2008	10/2008	QUILCEDA TREATMENT PLANT	20	0.1	200	ADULT
Shipped	10/2008	10/2008	BERNIE GOBIN HATCH	1,600,000			EGGS GREEN
Shipped	10/2008	10/2008	MARBLEMOUNT HATCHERY	1,700,000			EGGS GREEN
Shipped	10/2008	11/2008	WSU RESEARCH (PULLMAN)	10,000			EGGS GREEN
Shipped	11/2008	11/2008	SEATTLE POGGIE CLUB	60,000			EGGS EYED
Shipped	11/2008	11/2008	SKY VALLEY SDA SCHL	10,000			EGGS EYED
Shipped	11/2008	11/2008	REG 4 ED COOPS	11,000			EGGS EYED
Shipped	03/2009	03/2009	SNOHOMISH SPORTSMEN	24,000	1,000.0	24	JUVENILE
Shipped	04/2009	04/2009	REG 4 ED COOPS	1,000	1,000.0	1	JUVENILE
Shipped	01/2010	01/2010	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2010	01/2010	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2010	02/2010	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

Memo:

### WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

#### **Estimated Release Data Start Date End Date Num Release FPP Total Pound** Life Stage Release Site Mark Type **Tagged** 60,000 17.0 3,529 **JUVENILE** SKYKOMISH R 07.0012 05/2010 05/2010 AD**✓** 05/2010 17.0 05/2010 45,000 2,647 **JUVENILE** SKYKOMISH R 07.0012 AD **✓** 05/2010 05/2010 **JUVENILE** SKYKOMISH R 07.0012 45,000 17.0 2,647

Memo:

### WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

Species: COHO Run TYPE N

**Stock:** WASHOUGAL R 28.0159

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

		Total #	<b>Total Pounds</b>
Е	EggTake		
S	hipping		
R	Receive		
P	lanted	3,000,000	154,412

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	60,000	20.0	3,000	JUVENILE	KLICKITAT R 30.0002	AD	<b>✓</b>
04/2009	04/2009	2,440,000	20.0	122,000	<b>JUVENILE</b>	KLICKITAT R 30.0002		
05/2009	06/2009	470,000	17.0	27,647	JUVENILE	WASHOUGAL R 28.0159	AD	
05/2009	06/2009	30,000	17.0	1,765	JUVENILE	WASHOUGAL R 28.0159	AD	✓

Memo: Remaining Klickitat River production planted at RM 18.

### WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	1,300,000	
Receive	1,300,000	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2008	12/2008	LEWIS RIVER HATCHERY	1,300,000			EGGS GREEN
Shipped	01/2009	01/2009	KLICKITAT HATCHERY (YKFP)	1,300,000			EGGS EYED

### **Estimated Release Data**

	nd Date N	lum Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	-----------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: As needed to maintain Washougal/Klickitat Program.

### WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

Stock: WASHOUGAL R 28.0159

Brood Origin: HATCHERY

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	3,700,000	
Shipping	500	
Receive		
Planted	3,000,000	154,412

### **Estimated Brood Data**

**Egg Take Goal** 3,700,000

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2009	03/2009	REG 5 ED COOPS	500		EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	60,000	20.0	3,000	JUVENILE	KLICKITAT R 30.0002	AD	<b>✓</b>
04/2010	04/2010	2,440,000	20.0	122,000	JUVENILE	KLICKITAT R 30.0002		
05/2010	06/2010	470,000	17.0	27,647	JUVENILE	WASHOUGAL R 28.0159	AD	
05/2010	06/2010	30,000	17.0	1,765	JUVENILE	WASHOUGAL R 28.0159	AD	$\checkmark$

Memo: Remaining Klickitat River production planted at RM 18.

### WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

Species: COHO Run TYPE N

**Stock:** LEWIS R 27.0168

**Brood Origin:** WILD

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	400,000	
Receive	400,000	
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2008	01/2008	SPEELYAI HATCHERY	400,000			EGGS EYED
Shipped	02/2009	02/2009	FISH FIRST RSI+NP	400,000			EGGS EYED

# **Estimated Release Data**

Start Date E	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--------------	----------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: All eggs are otolith marked

### WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2007

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	200,000	16,667
	Shipping Receive	EggTake Shipping Receive

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	200,000	12.0	16,667	JUVENILE	WESTPORT BOAT BASIN	AD	

Memo: Port of Grays Harbor Co-op Release at 8-10 fpp.

### WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2008

Species: COHO

Run NA

Stock: SATSOP R 22.0360

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	01/2010	BINGHAM CR HATCHERY	210,000	22.0	9,545	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	05/2010	200,000	12.0	16,667	JUVENILE	WESTPORT BOAT BASIN	AD	

Memo: Port of Grays Harbor Co-op Release at 8-10 fpp.

### WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2007

**Species:** COHO

Run NA

Stock: COLUMBIA R -MID

**Brood Origin:** MIXED

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	650,000	32,500
Receive		
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	03/2009	03/2009	LEAVENWORTH HATCHERY	650,000	20.0	32,500	JUVENILE

### **Estimated Release Data**

Start Date End Date Num Release FFF Total Pound Life Stage Release Site Wark Type Tagged	Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Fish transferred to various acclimation sites including Leavenworth NFH, Beaver Creek, and Rolfling's Pond prior to eventual release into the Wenatchee Rive

### WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2008

**Species:** COHO

Run NA

Stock: COLUMBIA R -MID

**Brood Origin:** MIXED

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	650,000	32,500
Receive		
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	03/2010	03/2010	LEAVENWORTH HATCHERY	650,000	20.0	32,500	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
Start Date	Lina Dute	I tulli Iteleuse		I our I our	me stage	iterease site	THE TJPC	- 45504

Fish transferred to various acclimation sites including Leavenworth NFH, Beaver Creek, and Rolfling's Pond prior to eventual release into the Wenatchee Rive

### WORDAN PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

**Brood Year:** 2008

Species: COHO

Run NA

Stock: BIG SOOS CR 09.0072

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

EggTake
Shipping
Receive 1,000 2
Planted 1,000 2

### **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life	Stage
Received	03/2009	03/2009	SOOS CREEK HATCHERY	1,000	500.0	2 JUVI	ENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	1,000	500.0	2	JUVENILE	LTL SOOS CR 09.0092		